Annexure - |

Selection Chart for 1PQO Motors

Ambient 50°C - Insulation utilised to Class F



Notes regarding the Selection Charts

. The Std. Output in kW is the output as indicated in the catalogue for the Basic Design Motor (Self Cooled) when operated on
Electricity Board Supply. This output is possible from this 1PQO motor if it is operated directly on a Grid (Sinusoidal) supply,
subject to the same supply being given to the terminals of the blower motor.

The kW output indicated for VFD corresponds to operation at 50Hz through a VFD with Class of utilisation as indicated on the
respective chart and ambient of 50°C. The torque values indicate the constant torque deliverable by the motors with class of
utilisation indicated on the respective chart, over the specified speed range at an ambient of 50°C.

. The standard design is for 415V, 50Hz. The selection charts are valid for rated voltage in the range 230V - 500V. For rated
voltages beyond this range and frequency other than 50 Hz, please enquire with BD giving sufficient application details.

. While 1PQO motors are not required for M ~ N2 loads (centrifugal pump and fan), in case such an operation is carried out in
an emergency, prior enquiry should be made with BD for operation beyond 50Hz.

. For operation beyond 50Hz, for other than M ~ N2 applications please verify sufficient torque availability as per example in
TMO 7.369, page 4 of 4 (or refer to torque availability curve for the motor in question as generated from the Offer Maker
Program). Also please take note of 6 below.

. The above table is valid for operation of Motors with SIMOVERT MASTERDRIVES. For operation with MICROMASTER please
consult BD.

. Please do NOT exceed the mechanical speed limits indicated in the tables.

. Reference Documents:TME 8.475, TMM 8.1830, TMO 7.369.

. The B3 or V1 indicated in mechanical speed limit indicates that the respective mechanical speed limit applies to either
Horizontal or Vertical Construction.



SI E M E NS Champion Series 1PQO0 Motors - Frames 160 - 355 Page T of 2
Selection Chart - For VFD Application
Std. Output in kW at 50 Hz (when fed through VFD) | Torque in kgf.m Torque in Nm
Load Characteristics .
Output Mechanical
Rated < M = Constant > .
Motor Type (kw) Speed Limit
(Grid) Speef:l M o N2 Speed Range Speed Range Speed Range i)
at 50°C (rev/min) 25-50Hz 10-50Hz| 5-50Hz | 1-50Hz] 25-50Hz 10-50Hz 5-50Hz 1-50Hz}25-50Hz 10-50Hz|5-50Hz 1-50Hz
1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10
Ambient Temperature : 50°C, Insulation Class F utilised to F limits.
2 Pole
1PQO0 164-2YC 11 2920 <---- 11 s 9 <---- 3.7 o 3 <---- 36 o 29
1PQO0 165-2YC 15 2920 <L=men 14.3 ————> 12 <L=mn 4.8 —a 4 <---- 47 --—-> 39 4800
1PQ0 166-2YC 18.5 2910 <= 17.6 e 15 <L 5.9 — 5 L 58 e 49
1PQO 183-2YA 22 2940 <---- 20.9 -—--> 18 <---- 6.9 — 6 <---- 68 — 59 5700
1PQ0 207-2YB 30 2950 <---- 30 e 27 <---- 9.9 o 8.9 <---- 97 o 87 4800
1PQO0 208-2YB 37 2950 'g <---- 35.2 -—--> 31 <---- 11.6 — 10.2 <---- 114 — 100
1PQO0 223-2YB 45 2955 6 <L=mm 45 g 40 <L 14.8 — 13.2 L= 145 e 129 4500
1PQO0 254-2YB 55 2970 E L= 55 g 49 L= 18 — 16.1 L= 176 e 158 3900
1PQO0 281-2YB 75 2975 % <L=mem 75 - 67 L= 24.6 — 21.9 Lmn 241 —m=> 215 3600
1PQO0 284-2YB 90 2975 !6 <---- 90 -—--> 81 <---- 29.5 — 26.5 <---- 289 — 260
1PQ0 311-2YC 110 2980 z <L=men 110 ————> 99 <L=mn 36 —a 32.4 <---- 353 o 318 3600
1PQ0 314-2YC 132 2980 <---- 132 -—--> 118 <---- 43.1 e 38.6 <---- 422 o 378
1PQ0 318-2YC 160 2980 <---- 160 -—--> 144 <---- 52.3 e 471 Lmn 513 o 462 3600 - B3
1PQ0 319-2YC 200 2985 <---- 180 s 162 <---- 58.7 — 52.9 <---- 575 — 518 3000 - V1
1PQ0 356-2YC 250 2985 <---- 250 e 225 <---- 81.6 o 73.4 Lmm 800 o 719 3600 - B3
1PQ0 357-2YC 315 2985 <---- 299 -—--> 269 <---- 97.6 — 87.8 <---- 956 — 860 3000 - V1
4 Pole
1PQO 163-4YA 11 1450 <L=men 11 - 9 <L=men 7.4 — 6 L 73 e 59 3600
1PQ0 166-4YA 15 1450 L= 15 g 13 L= 10.1 — 8.7 L 99 e 85
1PQO 183-4YA 18.5 1463 <L=men 18.5 ——=> 16 <L 12.3 — 10.7 Lmmm 121 e 105 4200
1PQO0 186-4YA 22 1460 L= 22 g 19 <= 14.7 — 12.7 L 144 e 124
1PQO0 207-4YA 30 1470 L= 30 g 27 <= 19.9 — 17.9 L 195 e 175 4800
1PQO0 221-4YA 37 1475 E <L=mn 37 ————> 33 <L=mn 24.4 — 21.8 Lmn 239 e 214 4500
1PQ0 223-4YA 45 1475 S L= 45 g 40 <L 29.7 — 26.4 L= 291 e 259
1PQO0 254-4YA 55 1480 -~ <---- 55 s 49 <---- 36.2 — 32.2 <---- 355 — 316 3700
1PQO 281-4YA 75 1485 % <L=mn 75 ————> 67 <L=men 49.2 — 43.9 L 482 e 430 3000
1PQO0 284-4YA 90 1485 !6 L= 90 g 81 L= 59 — 53.1 L= 578 e 520
1PQO 311-4YA 110 1488 Z <---- 110 > 99 <---- 72 —> 64.8 <---- 706 o 635
1PQO 314-4YA 132 1488 <L=mn 132 ——=> 118 <L=mn 86.4 — 77.2 Lmmm 847 e 757 2600
1PQO0 318-4YA 160 1488 <L=mn 160 ——=> 144 <L=mn 104.7 — 94.3 L=mm 1026 —m—=> 924
1PQ0 319-4YA 200 1485 L= 180 e 162 <L 118.1 — 106.3 L 1157 e 1042
1PQ0 356-4YB 250 1488 <L=mn 250 - 225 <L=mn 163.6 — 147.3 L 1603 e 1444 2200
1PQ0 357-4YB 315 1488 <---- 315 -—--> 283 <---- 206.2 — 185.2 <---- 2021 -—--> 1815

1PQO

File: New Drive Operation Torque Capability.xls / Sheet:1PQO



SI E M E NS Champion Series 1PQO0 Motors - Frames 160 - 355 Page 2 of 2
Selection Chart - For VFD Application
Std. Output in kW at 50 Hz (when fed through VFD) | Torque in kgf.m Torque in Nm
Load Characteristics .
Output Mechanical
Rated < M = Constant > ..
Motor Type (kw) Speed Limit
(Grid) Speef:l M o N2 Speed Range Speed Range Speed Range i)
at 50°C (rev/imin) 25-50Hz| 10-50 Hz 5-50Hz 1-50Hz]25-50Hz| 10-50Hz 5-50Hz|1-50Hz|25-50Hz 10-50 Hz 5-50Hz 1-50Hz
1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10
Ambient Temperature : 50°C, Insulation Class F utilised to F limits.
6 Pole
1PQO 163-6YB 7.5 955 <---- 7.5 > 6 <---- 7.6 > 6.1 <---- 74 e 60 3000
1PQO 166-6YB 11 955 <---- 11 > 9 <---- 11.2 — 9.2 <---- 110 > 90
1PQO 186-6YA 15 970 <---- 15 > 13 <---- 15.1 — 13.1 <---- 148 > 128 4200
1PQO 206-6YA| 18.5 975 <---- 18.5 e 16 <---- 18.5 > 16 <---- 181 e 157 4800
1PQO 207-6YA 22 975 <---- 22 > 19 <---- 22 — 19 <---- 216 > 186
1PQO 223-6YA 30 978 E <---- 28.5 > 25 <---- 28.4 > 24.9 <---- 278 > 244 4400
1PQO 254-6YA 37 980 S <---- 37 > 33 <---- 36.8 — 32.8 <---- 361 > 321 3700
1PQO 281-6YA 45 984 -~ <---- 45 > 40 <---- 44.5 > 39.6 <---- 436 e 388 3000
1PQO 284-6YA 55 984 % <---- 55 > 49 <---- 54.4 > 48.5 <---- 533 > 475
1PQO 311-6YA 75 985 6 <---- 75 > 67 <---- 74.2 > 66.3 <---- 727 e 650
1PQO 314-6YA 90 985 zZ <---- 90 > 81 <---- 89 > 80.1 <---- 872 e 785 2600
1PQO 318-6YA 110 985 <---- 110 e 99 <---- 108.8 —> 97.9 <---- 1066 e 959
1PQO 319-6YB 132 985 <---- 132 > 118 <---- 130.5 > 116.7 <---- 1279 > 1144
1PQO 356-6YB 160 988 <---- 160 > 144 <---- 157.7 > 142 <---- 1545 e 1392
1PQO 357-6YB 200 988 <---- 200 e 180 <---- 197.2 > 177.4 <---- 1933 e 1739 2200
1PQO 358-6YB 250 988 <---- 250 > 225 <---- 246.5 — 221.8 <---- 2416 > 2174
8 Pole
1PQO 164-8YB 5.5 710 <---- 5 > 4 <---- 6.9 e 5.5 <---- 68 e 54 2400
1PQO 166-8YB 7.5 710 <---- 7.5 > 6 <---- 10.3 > 8.2 <---- 101 > 80
1PQO 186-8YB 11 725 <---- 11 > 9 <---- 14.8 — 12.1 <---- 145 > 119 4200
1PQO 207-8YB 15 725 <---- 15 > 13 <---- 20.2 > 17.5 <---- 198 > 172 4800
1PQO 220-8YB | 18.5 728 <---- 18.5 > 16 <---- 24.8 > 21.4 <---- 243 > 210 4400
1PQO 223-8YB 22 728 E <---- 22 ----> 19 <---- 29.4 ----> 25.4 <---- 288 ----> 249
1PQO 254-8YB 30 730 S <o 30 > 27 <o 40 — 36 <---- 392 — 353 3700
1PQO 281-8YB 37 732 = < 37 —> 33 < 49.2 — 43.9 < 482 —> 430 3000
1PQO 284-8YB 45 732 % <---- 45 > 40 <---- 59.9 > 53.2 <---- 587 > 521
1PQO 311-8YB 55 737 6 <---- 55 > 49 <---- 72.7 -—> 64.8 <---- 712 > 635
1PQO 314-8YB 75 737 pd <---- 75 ----> 67 <---- 99.1 e 88.5 <---- 971 ----> 867 2600
1PQO 318-8YB 90 737 < 90 —> 81 < 118.9 — 107 < 1165 —> 1049
1PQO 319-8YB 110 737 <---- 110 > 99 <---- 145.4 > 130.8 <---- 1425 > 1282
1PQO 356-8YB 132 738 <---- 132 > 118 <---- 174.2 —> 155.7 <---- 1707 > 1526
1PQO 357-8YB 160 738 <---- 160 > 144 <---- 211.2 —> 190 <---- 2070 e 1862 2200
1PQO 358-8YB 200 740 <= 200 > 180 <= 263.2 — 236.9 <---- 2579 — 2322

1PQO

File: New Drive Operation Torque Capability.xls / Sheet:1PQO



Annexure - I

Selection Chart for 1PQO Motors

Ambient 50°C - Insulation utilised to Class B



Notes regarding the Selection Charts

. The Std. Output in kW is the output as indicated in the catalogue for the Basic Design Motor (Self Cooled) when operated on
Electricity Board Supply. This output is possible from this 1PQO motor if it is operated directly on a Grid (Sinusoidal) supply,
subject to the same supply being given to the terminals of the blower motor.

The kW output indicated for VFD corresponds to operation at 50Hz through a VFD with Class of utilisation as indicated on the
respective chart and ambient of 50°C. The torque values indicate the constant torque deliverable by the motors with class of
utilisation indicated on the respective chart, over the specified speed range at an ambient of 50°C.

. The standard design is for 415V, 50Hz. The selection charts are valid for rated voltage in the range 230V - 500V. For rated
voltages beyond this range and frequency other than 50 Hz, please enquire with BD giving sufficient application details.

. While 1PQO motors are not required for M ~ N2 loads (centrifugal pump and fan), in case such an operation is carried out in
an emergency, prior enquiry should be made with BD for operation beyond 50Hz.

. For operation beyond 50Hz, for other than M ~ N2 applications please verify sufficient torque availability as per example in
TMO 7.369, page 4 of 4 (or refer to torque availability curve for the motor in question as generated from the Offer Maker
Program). Also please take note of 6 below.

. The above table is valid for operation of Motors with SIMOVERT MASTERDRIVES. For operation with MICROMASTER please
consult BD.

. Please do NOT exceed the mechanical speed limits indicated in the tables.

. Reference Documents:TME 8.475, TMM 8.1830, TMO 7.369.

. The B3 or V1 indicated in mechanical speed limit indicates that the respective mechanical speed limit applies to either
Horizontal or Vertical Construction.



SI E M E NS Champion Series 1PQO0 Motors - Frames 160 - 355 Page T of 2
Selection Chart - For VFD Application
Std. Output in kW at 50 Hz (when fed through VFD) | Torque in kgf.m Torque in Nm
Load Characteristics .
Output Mechanical
Rated < M = Constant > .
Motor Type (kw) Speed Limit
(Grid) Speef:l M o N2 Speed Range Speed Range Speed Range i)
at 50°C (rev/min) 25-50Hz 10-50Hz| 5-50Hz | 1-50Hz] 25-50Hz 10-50Hz 5-50Hz 1-50Hz}25-50Hz 10-50Hz|5-50Hz 1-50Hz
1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10
Ambient Temperature : 50°C, Insulation Class F utilised to B limits.
2 Pole
1PQO0 164-2YC 11 2920 <---- 9.9 e 8 <---- 3.3 o 2.7 <---- 32 o 26
1PQO0 165-2YC 15 2920 <---- 12.8 -—--> 11 <---- 4.3 — 3.7 L 42 --> 36 4800
1PQ0 166-2YC 18.5 2910 <= 15.8 e 14 <L 5.3 — 4.7 L 52 e 46
1PQO 183-2YA 22 2940 <---- 18.8 s 16 <---- 6.2 — 5.3 <---- 61 — 52 5700
1PQ0 207-2YB 30 2950 <---- 27 e 24 <---- 8.9 o 7.9 <---- 87 o 77 4800
1PQO0 208-2YB 37 2950 'g <---- 31.6 s 28 <---- 10.4 — 9.2 <---- 102 — 90
1PQO0 223-2YB 45 2955 6 <L=mm 40.5 g 36 L= 13.3 — 11.9 L 130 e 117 4500
1PQO0 254-2YB 55 2970 E L= 50 g 45 L= 16.4 — 14.8 L= 161 e 145 3900
1PQO0 281-2YB 75 2975 % <---- 68 -—--> 61 <---- 22.3 e 20 <---- 219 o 196 3600
1PQO0 284-2YB 90 2975 !6 <---- 81 -—--> 72 <---- 26.5 — 23.6 <---- 260 — 231
1PQ0 311-2YC 110 2980 z <L=men 99 - 89 L= 32.4 —a 29.1 <---- 318 o 285 3600
1PQ0 314-2YC 132 2980 <---- 119 s 107 <---- 38.9 e 35 <---- 381 o 343
1PQ0 318-2YC 160 2980 <---- 144 -—--> 129 <---- 47 .1 e 42.2 L= 462 o 414 3600 - B3
1PQ0 319-2YC 200 2985 <---- 162 s 145 <---- 52.9 — 47.3 <---- 518 — 464 3000 - V1
1PQ0 356-2YC 250 2985 <---- 225 e 202 <---- 73.4 o 65.9 Lmm 719 o 646 3600 - B3
1PQ0 357-2YC 315 2985 <---- 269 -—--> 242 <---- 87.8 — 79 <---- 860 — 774 3000 - V1
4 Pole
1PQO 163-4YA 11 1450 <L=men 9.9 - 8 <L=men 6.7 — 5.4 L 66 e 53 3600
1PQ0 166-4YA 15 1450 L= 13.5 g 12 <L 9.1 — 8.1 L 89 e 79
1PQO 183-4YA 18.5 1463 <L=men 16.7 ——=> 15 <L 11.1 — 10 L 109 e 98 4200
1PQO0 186-4YA 22 1460 L= 19.8 e 17 <L 13.2 — 11.3 L= 129 e 111
1PQO0 207-4YA 30 1470 L= 27 g 24 <= 17.9 — 15.9 L 175 e 156 4800
1PQO0 221-4YA 37 1475 E <---- 33.3 -—--> 29 <---- 22 o 19.1 <---- 216 o 187 4500
1PQ0 223-4YA 45 1475 S <---- 40.5 s 36 <---- 26.7 — 23.8 <---- 262 — 233
1PQO0 254-4YA 55 1480 -~ <---- 50 s 45 <---- 32.9 — 29.6 <---- 322 — 290 3700
1PQO 281-4YA 75 1485 % <L=mn 68 ————> 61 <L=men 446 — 40 L= 437 —m=> 392 3000
1PQO0 284-4YA 90 1485 !6 L= 81 g 72 L= 53.1 — 47.2 L 520 e 463
1PQO 311-4YA 110 1488 Z <---- 99 > 89 <---- 64.8 —> 58.3 <---- 635 o 571
1PQO 314-4YA 132 1488 <L=mn 119 ——=> 107 <L=mn 77.9 — 70 Lmn 763 e 686 2600
1PQO0 318-4YA 160 1488 <L=mn 144 ——=> 129 <L=mn 94.3 — 84.4 L 924 —m—=> 827
1PQ0 319-4YA 200 1485 <---- 162 -—--> 145 <---- 106.3 — 95.1 <---- 1042 — 932
1PQ0 356-4YB 250 1488 <---- 225 -—--> 202 <---- 147.3 o 132.2 <---- 1444 o 1296 5200
1PQ0 357-4YB 315 1488 <---- 284 -—--> 255 <---- 185.9 — 166.9 <---- 1822 -—--> 1636

1PQO

File: New Drive Operation Torque Capability.xls / Sheet:1PQO



SI E M E NS Champion Series 1PQO0 Motors - Frames 160 - 355 Page 2 of 2
Selection Chart - For VFD Application
Std. Output in kW at 50 Hz (when fed through VFD) | Torque in kgf.m | Torque in Nm
Load Characteristics .
Output Mechanical
Rated < M = Constant > ..
Motor Type (kw) Speed Limit
(Grid) Speef:l M o N2 Speed Range Speed Range Speed Range i)
at 50°C (rev/imin) 25-50Hz| 10-50 Hz 5-50Hz 1-50Hz]25-50Hz| 10-50Hz 5-50Hz|1-50Hz|25-50Hz 10-50 Hz 5-50Hz 1-50Hz
1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10 1:2 1:5 1:10 >1:10
Ambient Temperature : 50°C, Insulation Class F utilised to B limits.
6 Pole
1PQO 163-6YB 7.5 955 <---- 6.8 > 6 <---- 6.9 > 6.1 <---- 68 e 60 3000
1PQO 166-6YB 11 955 <---- 9.9 > 8 <---- 10.1 — 8.2 <---- 99 > 80
1PQO 186-6YA 15 970 <---- 13.5 > 12 <---- 13.6 > 12 <---- 133 > 118 4200
1PQO 206-6YA| 18.5 975 <---- 16.7 e 15 <---- 16.7 > 15 <---- 164 e 147 4800
1PQO 207-6YA 22 975 <---- 19.8 > 17 <---- 19.8 — 17 <---- 194 e 167
1PQO 223-6YA 30 978 E <---- 25.7 > 23 <---- 25.6 > 22.9 <---- 251 > 224 4400
1PQO 254-6YA 37 980 S <---- 33.3 > 29 <---- 33.1 > 28.8 <---- 324 > 282 3700
1PQO 281-6YA 45 984 -~ <---- 40.5 e 36 <---- 40.1 > 35.6 <---- 393 e 349 3000
1PQO 284-6YA 55 984 % <---- 50 > 45 <---- 49.5 > 44.5 <---- 485 > 436
1PQO 311-6YA 75 985 6 <---- 68 > 61 <---- 67.2 > 60.3 <---- 659 e 591
1PQO 314-6YA 90 985 zZ <---- 81 > 72 <---- 80.1 > 71.2 <---- 785 e 698 2600
1PQO 318-6YA 110 985 <---- 99 > 89 <---- 97.9 > 88 <---- 959 e 862
1PQO 319-6YB 132 985 <---- 119 > 107 <---- 117.7 — 105.8 <---- 1153 > 1037
1PQO 356-6YB 160 988 <---- 144 > 129 <---- 142 > 127.2 <---- 1392 e 1247
1PQO 357-6YB 200 988 <---- 180 > 162 <---- 177.4 > 159.7 <---- 1739 e 1565 2200
1PQO 358-6YB 250 988 <---- 225 > 202 <---- 221.8 > 199.1 <---- 2174 > 1951
8 Pole
1PQO 164-8YB 5.5 710 <---- 4.5 > 4 <---- 6.2 > 5.5 <---- 61 e 54 2400
1PQO 166-8YB 7.5 710 <---- 6.8 > 6 <---- 9.3 > 8.2 <---- 91 > 80
1PQO 186-8YB 11 725 <---- 9.9 > 8 <---- 13.3 — 10.7 <---- 130 > 105 4200
1PQO 207-8YB 15 725 <---- 13.5 > 12 <---- 18.1 > 16.1 <---- 177 > 158 4800
1PQO 220-8YB | 18.5 728 <---- 16.7 > 15 <---- 22.3 > 20.1 <---- 219 o 197 4400
1PQO 223-8YB 22 728 E <---- 19.8 ----> 17 <---- 26.5 > 22.7 <---- 260 e 222
1PQO 254-8YB 30 730 S <o 27 > 24 <o 36 — 32 <---- 353 — 314 3700
1PQO 281-8YB 37 732 = < 33.3 —> 29 < 44.3 — 38.6 < 434 —> 378 3000
1PQO 284-8YB 45 732 < <o 40.5 > 36 <= 53.9 — 47.9 <= 528 > 469
1PQO 311-8YB 55 737 6 <---- 50 > 45 <---- 66.1 -—> 59.5 <---- 648 > 583
1PQO 314-8YB 75 737 b <---- 68 > 61 <---- 89.9 —> 80.6 <---- 881 > 790 2600
1PQO 318-8YB 90 737 < 81 —> 72 < 107 — 95.2 < 1049 —> 933
1PQO 319-8YB 110 737 <o 99 > 89 <= 130.8 — 117.6 <= 1282 > 1152
1PQO 356-8YB 132 738 <---- 119 > 107 <---- 157.1 —> 141.2 <---- 1540 > 1384
1PQO 357-8YB 160 738 <---- 144 > 129 <---- 190 —> 170.3 <---- 1862 e 1669 2200
1PQO 358-8YB 200 740 <= 180 > 162 <= 236.9 — 213.2 <---- 2322 — 2089

1PQO

File: New Drive Operation Torque Capability.xls / Sheet:1PQO



SIEMENS

The Dimensional Diagram Table for New 1PQO Series Motors

(Click on the DD No. to open the drawing)

Dimensional Drawing No.

Frame Size| Poles
IMB3 -TOP TB IMB3 - SIDE TB IMB5/V1 IMB35-TOP TB IMB35 -SIDE TB
160M 2-8 4D-2716-65-0247074-001 4D-2716-66-0247438-001 4D-2716-69-0247173-001 4D-2716-67-0247251-001 4D-2716-68-0247451-001
160L 2-8 4D-2716-75-0247075-001 4D-2716-76-0247439-001 4D-2716-79-0247174-001 4D-2716-77-0247252-001 4D-2716-78-0247452-001
1188(2),\(' i = : 4D-2718-65-0247076-001 4D-2718-66-0247440-001 4D-2718-69-0247175-001 4D-2718-67-0247253-001 4D-2718-68-0247453-001
200L 2-8 4D-2720-65-0247077-001 4D-2720-66-0247441-001 4D-2720-69-0247176-001 4D-2720-67-0247254-001 4D-2720-68-0247454-001
225S 4&8 4D-2722-95-0247032-001 4D-2722-96-0247443-001 4D-2722-99-0247178-001 4D-2722-97-0247256-001 4D-2722-98-0247456-001
2 4D-2722-85-0247033-001 4D-2722-86-0247442-001 4D-2722-89-0247177-001 4D-2722-87-0247255-001 4D-2722-88-0247455-001
225M
4-8 4D-2722-95-0247032-001 4D-2722-96-0247443-001 4D-2722-99-0247178-001 4D-2722-97-0247256-001 4D-2722-98-0247456-001
2 4D-2725-85-0247078-001 4D-2725-86-0247444-001 4D-2725-89-0247179-001 4D-2725-87-0247257-001 4D-2725-88-0247457-001
250M
4-8 4D-2725-95-0247079-001 4D-2725-96-0247445-001 4D-2725-99-0247180-001 4D-2725-97-0247258-001 4D-2725-98-0247458-001
2288(;)|\S/I 2 4D-2728-8530-0247080-001 4D-2728-8630-0247446-001 4D-2728-8930-0247181-001 4D-2728-8730-0247259-001 4D-2728-8830-0247459-001
22883’3 4-8 4D-2728-9530-0247081-001 4D-2728-9630-0247434-001 4D-2728-9930-0247182-001 4D-2728-9730-0247260-001 4D-2728-9830-0247460-001
331155'; 2 4D-2731-8530-0247082-001 4D-2731-8630-0247449-001 4D-2731-8930-0247183-001 4D-2731-8730-0247263-001 4D-2731-8830-0247463-001
:1155; 4-8 4D-2731-9530-0247083-001 4D-2731-9630-0247450-001 4D-2731-9930-0247184-001 4D-2731-9730-0247264-001 4D-2731-9830-0247464-001
2 4D-2731-6530-0247084-001 4D-2731-6630-0247447-001 4D-2731-6930-0247185-001 4D-2731-6730-0247261-001 4D-2731-6830-0247461-001
315L
4-8 4D-2731-7530-0247085-001 4D-2731-7630-0247448-001 4D-2731-7930-0247186-001 4D-2731-7730-0247262-001 4D-2731-7830-0247462-001

DDs for New Design 1PQO.xIs/The Dimension Drg Table




Annexure - il

Dimensional Diagrams for 1PQO Motors

Frames 160M - 315L-1IMB3 - T.Boxon TOP



830

645

S 110

&)
2
IE

C‘K %@ ‘ (@l Air_Inlet /.l\
—110— | - l"?l//@ |
- 1 b - W
() o
o %;r' —GE:E}M-~—‘~—!— —————————————— -t - -—- 3T
[ G{ - |— 39 i
A , 7
— " i | L L I1 [ ! 3
ir OQutle ! T
T S~ —
20 !*_ | bl 415
108/ ~—{210 £0.75/—] 25441
70— 70 60 60
250 314
@Termincl Box Type : 1XB1 223
(1) Shaft extension 842 ¢ x 110 with protected centre hole M16x36 suitable for max. cable conductor cross—section(mm2): 25
@ Relief groove E1x0.2 as per 15:3428
@ Measured over bolt heads 160 M IM-B3
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility. ) Mfmm Designation Applicable for co"m‘:ﬁmsmle
(5) 2 Nos. BS.Conduit Entry 31.8 (1 1/4") ~IS:1653 AT RIR (1% 5 4)] Dimensional Diagram NTS
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 SEC ) %Gpg_n :'POO 163/164/165-2.8
() Blower Motor ouser e | SIEMENS | 4D-9716-65-0247074-001__|$)
JusUipuatly ; ) IREF DRG NO.  (4D-2716-60-0240394-001)




JUSLIpUALLY

Air Inlet

875
690—
——148—
55
:
. e
110 |
NI [ I —
? —| l— 39
45 .
2 1L T I
Air Outlet ! l I l !
i bt i
20| | l
108}~ 254 +14—]
70— 70—
294

@ Shaft extension #42ke x 110 with protected centre hole M16x36

@ Relief groove E1x0.2 as per 1S:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility.

(5) 2 Nos. B.S.Conduit Entry 31.8 (1 1/4") -IS:

@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Blower Motor

1653

w0
3 =
~~~~~ - e - - - - t 5
[t}
[o]
i
- 3
& ‘ i ‘
{ it 815
254 1
60 60
314
@Terminoi Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm2): 25
160 L IM-B3
Frame Designation Applicable for Construction
Date | Hame : . . X Scale
1o 11 08 FEASAA] Dimensional Diagram | s
£ P | b
A Iyee: 1PQD 166-2..8
Dim, without ; PrRe o, ;
warwos o v | SIEMENS 1'4p—9716-75-0247075-001 €5
5 WMot REF_DRG NO. _ (4D-2716-70-0240395-001)

10—




920

735

110

&)
s
IE

%‘5) dﬂ Air_inlet /@ /‘g\
o | 2 ezl |
| H @ i S
w | 8 ¥
b I ===t —g-— - —] o - -—1- ¥
§ *"] ]"‘ 35 15
515 | 3
T o | Tl | 2
Air_QOutlet ! T
LT o R~ i
305 ‘ 241 £0.75 ! 180M f =1 815
12 279 +1 1800 279 &1
110~ 110~ 69 65
332 344
@Terminol Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm2): 25
@ Shaft extension #48 s x 110 with protected centre hole M16x36
(2) Relief groove E1x0.2 as per 15:3428 180 M/L IM—B3
(3) Measured over bolt heads Frame Designotion Applicable for Construction
Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility. ﬁe -y s . . Scale
@ ) N Dimensional Diagram | s
() 2 Nos. B.S.Conduit Entry 31.8 (1 1/4") —IS:1653 ks PR o 1P0- 15
1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 Dim. without . DRG
® v 19 (5/4) 7o | SIEMENS [ 2718-65-0247076-001 |5
(?) Blower Motor Hedium 15:2102 4D-2718-60-0240396-001)

 JUalpUsuiy

b




JusLIpLiaUY|

790

~—110-

16
835

el

25

—-133 ! 305 i1~———-—l

355

@ Shaft extension 855 g x 110 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility.

(5) 2 Nos. B.S.Conduit Entry 51(2") -IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") —I5:1653

@ Blower Motor

Air inlet /@

==+ ———-— - ——- A1

65 ——-—! [ 42
99 .
2 | 1]

Air Outlet | | | ¢ | || l

o
B ©
- - - ‘ <
0
T
1 <
(]
# N
3 ; ) l 1yt l
~) ! Al
’ 1 819
318 +1
80 80
398
(D Terminal Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35
200 L IM—-B3

Applicable for Construction

Dim. without
tolerance ds per
Medium 1S:2102 WMOT

Type: 1PQO~20

Dimensional Diagram |

Scale

SIEMENS %45 7790-65-0247077-001 |45




JUBLLpLBLLY

1000

Air inlet /@

3 el
110~ | 5
ae‘ O A = . — —~-—— —
' - |25
59 !
! 2
Air_Qutlet | |
—EH L"*'"“z ssia[
0| {86 1 LL5oss
~149{-] 311 41 H—225m
110~ ~110—
386

@ Shaft extension 855 g x 110 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility.

(5) 2 Nos. B.S.Conduit Entry 51 (2") —IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Blower Motor

[
S &8
———————— — o a—— - 1 &
0
T
N 0
o
‘ o
Y — m |
* -1 819
356 £t
80 80
436
@Terminol Box Type : 1XB7 322
suitable for max. cable conductor cross—section{mm2): 35
225 S/M IM—-B3

Applicable for Construction

Frame Designation

ST IXTRLSY - Dimensional Diagram |
19.11.08 Z¢-. i - J
e - NTS
o i . oo 1PQO 22-2

Dim. without fo.
(il v | SIEMENS 1'4D-9729-85-0247033-001 [
| e WMOT REF ORG WO, (4D—2729-80-0240398-001)




Jueuipuauiy]

1030

~—140—

18
860

A=

64
2

_Air Outlet

Air Iniet

el

845
~—197—
85
:
L F @ @\
\! 2
kS ®
] e
i by
'i‘Tzé ““““““““ 1T
T [
HE ) WV |
— 1 RN
0 ‘ 286 +1 , 2255
~149-] 311 41 | 225M
110~ 110~
386

@ Shaft extension 860 e x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009
() 2 Nos. B.S.Conduit Entry 51(2") —IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

100

~—155—

19

fo]
S &
e -b—- -—]- B
w0
T
o | 5
| S
S : : i
' |}t 819
356 £1
80 80
436
(D Terminal Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35
225 S/M IM-B3
Frame Desagnat?on Applicable for Construction
2 » » Scale
) Dimensional Diagram |
= Type: 1PQD 22-4...8
—— I
Dim. without
g‘é;‘gﬂc:é{%zr STEMENS 4D-2722-05-0247032-001 [
o wmor [ReF DRG o, (302727 -90-0240407-001)




JUBLIpUAULY

1195

140~

18
$60

64

e

Air Outlet

A Ih

t==f+-—-————- -

—~168

349 £1

@ Shaft extension $60 mg x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 51 (2") —IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

@ Blower Motor

(@]
8B
4 — - -~ — -—- -—- e
0
T
1 Q
[Te]
L/ T
< i) : it
bl o
4061
100 100
506
@Terminc! Box Type : 1XB7 422
suitable for max. cable conductor cross—section{mm2): 120
250 M IM-B3
Frame Designatwn Applicable for Construction
me - . . R Scale
U Dimensional Diagram |\
' Type 1PQO 25~2
m!%‘r%“acz"?‘::%r SIEMENS (3 -2725-85-0247078-001 |

Air Inlet

®

120 200—

@

Medium 15:2102




JUOLIpUBLLY

1195

953

U J

1 [}
1] 40— ] UN)
<
‘ 1
© g = 8

[ G{ - |- 39
69 |
Z I1

Air Outlet | | | ] | l

Air Inlet /@

42

u BRI t i
46| | |
1684~ 349 41—

115~ 115

o~
[N
w

@ Shaft extension 865 mg x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S5:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 15:4009

(5) 2 Nos. B.S.Conduit Entry 51(2") ~IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

@ Blower Motor

120

200~

924

1©

585
680

250 g 5—

4061
100

@Terminal Box Type : 1XB7 422

‘suitable for max. cable conductor cross—section(mm2): 120

506

IM-B3

Applicable for Construction

-

- e . . *
! Dimensional Diagram NTS
Type: 1PQO 25-4.8

Scale

54

without SIEMEN IR No.
| gterance as per ‘ 4D-2725-95-0247079-001 [&5

Medium 15:2102 WMOT JREF _DRG_NO

4D-2725-90-0240403-001)




JuatLpuatly

1270

1028

140

18
865
Il

[ | |- |—30
A

@\é%% ®)

=i - —+-—-———- —

2805

Air_Qutlet ] 2': l . ’ i Ei:g{
303 | 368 +1 ,
~190{~ 419 +1 !

100~ 155~
483

280M

@ Shaft extension 965 mg x 140 with protected centre hole M20x42

(2) Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") -IS:1653
@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

—{ 135 |=—250—
- Air_Inlet /@ .
l [
S ®
-~ e - - - r~
T
| 2
‘ N
N : :
< ! HH
bl 624
45711
100 100
557
@Termincl Box Type : 1XB7 522
" suitable for max. cable conductor cross—section(mm2): 240
280 S/M IM-B3
Frame Designation Applicable for Construction
Date B - L ) N R R Scale
Dimensional Diagram s
" v '%%%e: 1PQO 2§—2
Dim. without “nIC Yo.
s oo per | SIEMIENS - '4n—2798-8530-0247080-001 [95|

Medium 152102 Wmot [REF DRe w0, (4D—2778-8030-0241541-001)




JusLIpUBILY

1270

1028

== 135 |—250—

d Air_inlet i
H e
5 |
o)

nt— O—-b—
14 ! 5 l?/ .
l . | s g
S g = - ———1 - —- R
795 | -
2 LT r{ [ . §
Air Qutlet ! l ’
T o R~ i
03 l——1368 1 LL 805 b g
~190}~| 419 #1 Ll 280M 4571
100~ 155 100 100
483 557
(D Terminal Box Type : 1XB7 522
@ Shaft extension 875 mg x 140 with protected centre hole M20x42 suitable for max. cable conductor cross—section(mm2): 240
@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads 280 S/ M - - IM-B3 -
Frame Designation Applicable for Construction

@ Grease Nipple M10x1 as per 1S:4009
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

Do i ~: D. Scale
imensional Diagram |

Dim. without

tolrarce s per gi2728-9530—0247081 -001 [¢5)

Medium 15:2102 WMOT [REr ORG NO, (4D—7778-9030-0041542-001)




juatlipiaury

1375

1133
~—330—

138

=T

~—140— l <
§
© A B —

({ —-—] [~— 32
—-6—9-— H
2 I I

|
Air_Outlet | | ] ; ] |
l

(T S i
B l—da06 21 Ll 515
216} |~——1 457 11 | 315M
120~ 17 1
527

@ Shaft extension 965 g x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653

@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

Medium 1S:2102

—1 165 [~—285—
@]
Air Inlet /@ ‘
! foue
R &
— =] e e - - - o0
T
1 u
‘ v
‘ 1
PSS i) i
! —+|l=1 928
508+1.5
120 120
628
(T)Terminal Box Type : 1XB7 622
suitable for max. cable conductor cross—section(mm2): 300
315 S/M IM-B3
Frume Designation Applicable for Construction
w ® » . SCG'C
OV Dimensional Diagram | s
Type 1PQO 310/1/3/4-2
N . DR
m&'::?,;c:'ﬁ:“.;; SIEMENS ['40-7731-8530-0247082-001 |5

REF_DRG NO. {4D—2731-8030~0241543~001)




1405

1163
330~ 1 165 [~—285—

135

gy

@\é%% @ % 0,

Y@ d Air inlet
170~ l < /@
| g el |
QL‘“ 8| +C=> O e L et ~ =+ N ——- 3 3
.
T - ~ !
85 ‘ <
2 i ll I ' o
— _Air Outlet | | | o
L(Th < ls zsfs{ a‘ ™ ‘ n |
B ‘ 406 +1 ' 3155 bl ¢28
216~ 457 +1 | 315m 508 1.5
] 20 17 120 120
527 628

(T)Terminal Box Type : 1XB7 622
suitable for max. cable conductor cross—section(mm2): 300
@ Shaft extension 880 g x 170 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428 315 S/M IM—B3
@ Measured over bolt heads Frame Designation Applicable for Construction

@ Grease Nipple M10x1 as per 1S:4009 Dimensional Diagmm Sf:;l;
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653

o Type 1PQ0 310/1/3/4—4..8

1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 Dimm. without e RO
©  Enty 19 (574 t;fir‘é‘nci;;{,‘é;; SIEMENS ['40-2731-9530-0247083-001 [
smpmay] (1) Blower Motor o WMot [ReF DR No.(4D-2731-9030-0241544-001) ;




1515

1273
—{ 165 [+~—285—

| @l, _tir et | _® »
~—140— > = |
- © 1
| b 3
® g = —+————- — - ——- — {1 -(—- -—- %
69 1 -
2 n ‘ 0
— ar outiet | | T || 1T P
H hd H S‘ i ' i
35 !,_ | i 928
~216/~ 508 £1.5| ——] | 508415
120~ 10— 120 120
578 628
(D Termindl Box Type : 1XB7 622
i . ~secti . 30
@ Shaft extension #65 g x 140 with protected centre hole M20x42 suitable for max. cable conductor cross-section(mm2): 300
@ Relief groove E1.6x0.3 as per 15:3428 315 L ;M_.Bj
@ Measured over bolt heads . Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per 1S:4009 T Date , ) Di . | Di Scale
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") -IS:1653 Checked 1919 = o Type: 1;grge;zj/o'/?;9—2mgmm NS
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 L ; e
(7) Blower Motor tokranc 0 po SIEMENS | 4D-2731-6530-0247084—001 €5
eom = WMOT [REF DRe WO (4D-2731-6030-0241545-001)

juauIpLBLlY




JusLpUaLily

1545

1303

~—330—
135

~170—~ i
N B 1 B ~t-

®/ 1
85 |
2 I

e o

d - Air Inlet

10 /@ i
3 |
@O
@

—{ 165 [=~—285—

830

960

i QI
Air_OQutlet | | A | ] ! at

gy A bt I a HIR i

Bl | bl 26
216/ 508 £1.5 ——] 50815
120~ 120~ 120 120
578 628
@Termino! Box Type : 1XB7 622
suitable for max. cable conductor cross—section(mmz2): 300
@ Shaft extension 880 mg x 170 with protected centre hole M20x42

@ Relief groove £1.6x0.3 as per 15:3428 315 L iIM—B3

@ Measured over bolt heads

@ Grease Nipple M10x1 as per [5:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") -1S:1653
(6)1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

@ Blower Motor

Applicable for Construction

Dimensional Diagram

Dim. without
tolerance as per
Medium 1S:2102

Scale
NTS

5




Annexure -1V

Dimensional Diagrams for 1PQO Motors

Frames 160M - 315L -1MB3 - T.Box on SIDE



830

~—148—

645

Q|
55
- 1 Qe
-
D L | M
Air_Qutlet ! l l
= JERE

108 ~——|210 +0.75

d Air Inlet “
FS

260

@ Relief groove E1x0.2 as per 1S:3428
@ Measured over bolt heads

@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Blower Motor

JusLIpUsLY

250

@ Shaft extension $42 ¢ x 110 with protected centre hole M16x36

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility.
@ 2 Nos. B.S.Conduit Entry 31.8 (1 1/4") —IS:1653

i O
[{s]
- )
i
&
S T
o |
o~
t | 915
25441
60 60
314
215
@Terminal Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm2): 25
For Terminal Box on left, view is “mirror image” ‘
160 M IM—-B3

Frame Demgnat:on

Applicable for Construction

Medium S:2102

me . . . Scale

g Dimensional Diagram |
” e iPQO 163/164/ 165-2..8
m‘,i‘f".?,;cé"?‘f‘;‘er SIEM NS 49 2716 66—0247438 001 (o5




[w.9]
~J
w

690

1 48—

of THE q

~—110—
S
‘ o F1
1
2 Y =i+ ——— — =1

f J ] i~~— 39
B .
2 |1 I

Air Outlet | 1 ] ] H l

Air Inlet

260

=il + i
20| | |
108}~ 954 41—
70— — 70~

294

@ Shaft extension 942 ks x 110 with protected centre hole M16x36
@ Relief groove E1x0.2 as per 1S:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility.

(5) 2 Nos. B.S.Conduit Entry 31.8 (1 1/4") -I5:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

@ Blower Motor

®Termincl Box Type : 1XB1 223

~1 @15

254 41
60

-——160 _0'5““"“{

360

165

60

314

215

suitable for max. cable conductor cross—section{(mm?2): 25

For Terminal Box on left, view is "mirror image”

Medium 18:2102

160 L IM-B3
Frame Des;gnatwn \ Applicable for Construction
k Dimensional Diagram |
Type: 1PQO 166-2..8
to&i‘l?ac:"%"s“‘éir SIEMENS "4D-2716-76-0247439-001 |&©

4D-2716-75; 4D-2716-71)

Juatiplisuiy|




JusLIpUd

=1

920

——148—

260

AV 2 d

Air_Inlet /@

’ A
s = a2 = b
© T s
il I e mr- - e e e s e - <+
51.5 !
2 I
Air Qutlet | | ] ' ' t [
T e
302 o4t 5075 S bl s
121~ 279 +1 1801 279 | +1
110~ 110~ 65 85
332 344
! 215
(T Terminal Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm?2): 25
@ Shaft extension 948 g x 110 with protected centre hole M16x36 For Terminal Box on left, view is “mirror image”
(2) Relief groove E1x0.2 as per 15:3428 186M/180L IM-B3
(3) Measured over bolt heads Frame Designation Applicable for Construction
al N Scale

@ Grease Nipple M10x1 as per [S5:4009 only for motors with regreasing facility.
@ 2 Nos. B.S.Conduit Entry 31.8 (1 1/4") —IS:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4”) —IS:1653

@ Blower Motor

ate Name

L, “;«‘, Dimensional Diagram |
i Type: 1PQO~18
DBim. without k

tolerance as per / Ns 0%6412718-66-0247440-001 @B

Medium 15:2102 WMOT REF DRG N0, (40271865, 4D-7718-61)




| JusUiptiauly)

Air Inlet /@

975
790
Y. -
®\4 85 @I
[fe]
110~ 5
T X
re=) | e e ——-
o
2 1L T I
Air Outlet 1 I I ' ]
= B ok i
25| | |
133 305 +14—|
85— 85—

358

@ Shoft extension 855 g x 110 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

3 -
U
i . s . e e Wt <
[fe]
° o
o 2
[
[
' { [}t 918
318 +1
80 80
398
275
@Termina! Box Type : 1XB7 322
suitable for max. cable conductor cross—section{mm2): 35
For Terminal Box on left, view is "mirror image”
200 L IM-B3

@ Grease Nipple M10x1 as per 1$:4009 only for motors with regreasing facility.

@ 2 Nos. B.S.Conduit Entry 51(27) —IS:1653
@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

355

Frame Designation

Applicable for Construction

tolerance as per
Medium 18:2102

lREF DRG HO.

] Date Name . R R Scale
o [160500 Dimensional Diagram | s
Std;CﬂD 252 \ : T;%Q:N1 PQO-20

Ry S |'4D-2720-66-0247441-001 [®5|

(4D-2720-65; 4D--2720-61)




1000

815
~—197— 335
|
@ @Kﬂ N R
- ; oo —
®\A | @I Air_Inlet o, , ' @
82 2 _® TS |
" | 3 ezl I
‘ ! - L\/\J B <
i u‘é O s I e B N i - o - — Y
, L —"*‘ !*““ 25 trg
29 ; ?Q
o AL s s o | | 7
Air_Qutlet !
Air_Outlet , | ‘
(T T i SRR |
20 { 286 +1 , 2255 ’ ~t1=-1 819
~149p~ 311 #1 —225m 356 | +1
110~ —110— 80 80
386 436
275
@Terminoi Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35
@ Shaft extension 855 e x 110 with protected centre hole M20x42 For Terminal Box on left. view is "mirror image”
@ Relief groove E1.6x0.3 as per 15:3428 2255/225M iM—-B3
@ Measured over bolt heads Frame Deslgnatmn Applicable for Construction
Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility. ‘ . . . . Scate
@ . n e Damensaonol Diagram | s
(5) 2 Nos. B.S.Conduit Entry 51 (2") ~IS:1653 :
1 No. B.S.Conduit Entry 19 (3/4") —I5:1653 i, v ‘ G
©  Eatey 19 (5/4) gt | SIEMENS [45-9729-86-0247442-001|#5)
; @ Blower Motor Medium 15:2102
Tsnipuawy] )=2722-81}




JUBLIpUBULY

1030

] § 7 e

RV

=140~
‘ -«L@\A—
© gl 1=
. 25

el
64
2

845

Air_Qutlet

Air Inlet

el

335

2255
225M

LT Changl il

20 ‘ 286 +1 :

~149p~ 311+ !

110~ —110—
386

@ Shaft extension 860 e x 140 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads

(%) Grease Nipple M10x1 as per [S:4009

(5) 2 Nos. B.S.Conduit Entry 51(2") ~IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4”) —IS:1653
@ Blower Motor

i o
[on]
[T W M—-t W
W
C? O
PPN
Tj
bl o1
356 £1
80 80
436
275
@Terminol Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35
For Terminal Box on left, view is "mirror image”
2255/225M IM-B3
Frame Designation Applicable for Construction
Name . . . Scale
i [SCTIEAR, 3 Dimensional Diagram |
EERGD \ Te: 1PQO_22—4...8
R N - W 3 DRG No.
wes ov p | STEMENS 174n_9799_06-0247443-001 |95
Medium (52102 WMOT [FEF DRe W (4D-2772-95; 4D-2722-91)




JuBLIpUBLLY

460

1195
953
34—
—Q @
Qq
85
140~
‘ Jr{. -
@ gl = H+-—-—-—-—-—- e e - —

t 5 ' s
64 ,
2 L T1 [

Air Outlet | ] | ¢ | ]

d Air inlet /@

=i hud i%i
6] | |
168}~ 349 t14—

115 115

425

@ Shaft extension 860 g x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per {5:4009

(%) 2 Nos. B.S.Conduit Entry 51 (2”) -IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/47) —IS:1653

@ Blower Motor

580

—+ [l 024

406 £1
100 100

506
! 365

@Termma! Box Type : 1XB7 422
suitable for max. cable conductor cross—section{mm2): 120
For Terminal Box on left, view is "mirror image”

Medium 15:2102

250 M IM—B3
Applicable for Construction
Dimensional Diagram S,;?;
; ) Type: 1PQO 25-2
= —a X —mie IPRC No.
s o ver | SIEMENS 1'4n_9795-86-0247444-001 |95




1195

953

B /- 460

RV @ | ®

[ew]
~—140—~ S
@ =
i N (]
® § M- — " -1 *“T 2
f - |- 39 b
89 . £
- Ol g
Air_Qutlet ]‘i‘ l - ’ ' 1
= R B! it
Bl | bl oo
168} 349 +14—] 4061
115~ 115 100 100
425 506
365
@Terminal Box Type : 1XB7 422
@ Shaft extension 65 ng x 140 with protected centre hole M20x42 suitable for max. cable conductor cross—section(mm2): 120
@ Relief groove E1.6x0.3 as per 5:3428 For Terminal Box on left, view is "mirror image” _
@ Measured over bolt heads 250 M — - W-B3 -
@ Grease Nipple M10x1 as per 1S:4009 Wmee gnation Joploas tor Construcho:stmie
(5) 2 Nos. B.S.Conduit Entry 51(2") —IS:1653 ; Dimensional Diagram |
(6) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653 , e 1PQ0 25-4..8
0 . without v
(@ Blower Motor mér,'z‘nc:';g;;’;;zr SIEMENS 40" 2705-96-0247445-001 _[#°|
Y Medium 15 WMOT [REF DRG W0 (4D-2725-95, 4D-2725-G1)




1270

1028

550

~—266—

“a

! ¥
sl @ i Intet D
[Te)
HI % Eal
[Fp]
o i ey R HEOY | I I I I Wik
] ¢ G
— 2 Y LT Hl { &
Air_Qutlet ! ’
LT T i
50.5 . 368 1 ! 280S
1904~ 419 +1 LL—o80M
100~ 155 100 100
483 557
430
@Terminql Box Type : 1XB7 522
@ Shaft extension $65 ng x 140 with protected centre hole M20x42 suitable ff)r max.  cable confiuctf)r ’f:r?ss—s.ectuonfmmZ): 240
) For Terminal Box on left, view is mirror image
@ Relief groove E1.6x0.3 as per 15:3428 WM IM—B3
@ Measured over bolt heads Frame Desianation \ Applicable for Construction
@ Grease Nipple M10x1 as per 1S:4009 ' ; ‘Na D Di . | Di Scale
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653 reckedas s g RQ)\ ‘ 1;2%3?83’2(’”0 \agram NTS
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 R e T
Dim. without SIE ! ENS ; @‘B
@ Blower Motor :"’eg“’“ceg‘sﬂ@ - ‘ 4D-2728-8630~0247446-001
JiowpUauY) edum = WMOT ReF DRG NO. (4D-2728-8530; 4D-7728-B130)




JustipuaWLY

1270
1028 550
e DG e
e <
.\’ | (@L air_iniet | _(8)
pe— p—— M~
140 1({)0 5 = q
0
fH R - ———-- ] H—— - 4 2
| =30 o
2 ) I 3 2
Air Outlet | 1 T | o 9
il TRy zziz[ ’
02 | 1368 +1 L1805 bl s
~190/ 419 £1 l—280M 4571
=100~ ] 55~ 100 100
483 557
430
®Terminai Box Type : 1XB7 522
(1) Shaft extension #75 mg x 140 with protected centre hole M20x42 suitable for max. cable conductor cross—section(mm2): 240
. For Terminal Box on left, view is "mirror image”
@ Relief groove E1.6x0.3 as per 1S:3428 —_— ! —
@ Measured over bolt heads FQBOSD/; BOM Applicabl flMc Bi‘t r
rame Designation e for Construction
@ Grease Nipple M10x1 as per 1S:4009 'iS'ete 9 T
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653 Dimensional Daagmm NTS
(6) 1 No. B.S.Conduit Entry 19 (3/4”) —I5:1653 ] Uiz ;
im. withou
() Blower Motor :g«{;,ameg;,pg SIEMENS 4D-2728-9630-0247434-001 [$]
edum B 4D_2728-9530; 4D-2728-91)




1375

1133

Air inlet

Ig]
~—140— 3 =]
135 ©
(o]
S | &
@t o +EDHH 4,@\5',_”“ ~~~~~~~~ -~ —t - T
11— . 32
69 ;
[
— Doy T ﬂl { g
Air_Qutlet ! ’
—L# : T
B 406 1 l 3158 bl 26
216t 457 £1 l—315m 508415
120~ 171~ 120 120
527 628
530
(1) Terminal Box Type : 1XB7 622
suitable for max. cable conductor cross—section(mm2): 300
@ Shaft extension 965 6 x 140 with protected centre hole M20x42 For Terminal Box on left. view is "mirror imoge"
(2) Relief groove E1.6x0.3 as per 15:3428 3155/315M IM—B3
% Measured over bolt heads Frame Desgnatton ‘ Applicable for Construction
Grease Nipple M10x1 as per 1S:4009 Dafe Scale
Drcwr{16.03,00] REAR Damenssonci Diagram
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653 ~ ~ , o g NTS
()1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653 FOREIO Ip— ‘ ‘
L1 @ Blower Mot weroct o e | SIEMENS 4= 2731-8630-—0247449 001 |$2
T or edum REF DRG NO. (4D—2731-8530; 4D-2731-8130)




 Jisuiplatiy ]

22

85

i

@ Shaft extension @80 s x 170 with protected centre hole M20x42

1405

1163

170~
<O
ol A= - ‘L@Aﬁ- ~~~~~~~~~
6{ — =32
2 | T Hl [
Air Outlet i I
LT ¥ T
B . 406 1 !
216! 457 +1 !
120~ 171
597

Air Inlet

@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") -IS:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

3155
315M

@Terminal Box Type :

928

508 |£1.5

740

290

120

1XB7 622

628

530

suitable for max. cable conductor cross—section(mm2): 300

For Terminal Box on left, view is "mirror image”

3155/315M IM-B3
Frame Desugnatton ~ Applicable for Construction
Tate N Scate
Drawn_116,03.00] RSARK 4, » nsaonal ch ram ~
gmrnza- Dime g”k NTS
w?;:';,;c:‘ti;‘”;z, 450 001 |5

Medium 18:2102




1545

1303

Air Outlet | 1 ] || ‘

330
| (‘D\‘
o T2
~=170— 1:15
o TS I
@

Air inlet

~216}-] 508 415 ——
120~ 120

660

740

120

120

@ Shaft extension #80 mg x 170 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653
@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
. @ Blower Motor

! 530
(D) Terminal Box Type : 1XB7 622 A
suitable for max. cable conductor cross—section(mm2): 300

For Terminal Box on left, view is "mirror image” _
315 L IM-B3
Frame Desngnatton Applicable for Construction
56-3 ! Scale

Damens:ona!’ D:ogmm NTS

5td.CHD.
Dim. without

e, | SIEM ENS °4D 2731-T630-0247448-001 Lee

Medium 1S:2102




15156

1273

‘ d@ Air Inlet
~—140— >
[RIRES g il
Q
@ 3l Je— il H ] AN e e e . B o~
A © N
? | |51
69 =
] ., -
— 2 1L ] l I { &
Air_Qutlet ! I
E— {
(T v I
] - | - o2
~216 508 +1.5| ——| 508+15
120~ 190 120 120
578 628
l 530
(1) Terminal Box Type : 1XB7 622
i A ~secti : 300
@ Shaft extension 865 e x 140 with protected centre hole M20x42 suitable tior max. cable con'duct.or ”CF?SS s~ect|on§mm2) 0
) For Terminal Box on left, view is mirror image
(2) Relief groove E1.6x0.3 as per 15:3428 315 L IM—B3
(3) Measured over bolt heads Frame Designation - Applicable for Construction
@ Grease Nipple M10x1 as per 1S:4009 T * Di Seale
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.57) —IS:1653 , D:mens;ono viagram s
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 P—— ;
(@) Blower Motor .t | SIEMENS ['40-2731-6630-0247447-001 [ €5
L - Medium 1$:2102
jUstupuatly REF_DRG NO. (4D-2731-6530; 4D-2731-8130)




Annexure -V

Dimensional Diagrams for 1PQO Motors

Frames 160M - 315M - IMB5 / IMV1
Frame 315L - IMV1



645
148
110405 o5
IS -
5 NI
yinsae ®
L —
e )
®\‘w- @ @ @ @I Air_Inlet &
© " 47"“"” fe)
gt [ 2 1|
| Ny
N T =N R E—— —t——
f 2 |
A
45| ©
2 |
'f% Air_Outlet /
%8
a2
2le
e
a8
5|8
%; @ Shaft extension 842 s x 110 with protected centre hole M16x36 @T nal Box T IXB1 293
g2 A erminal Box Type :
5 . 1S:3428
§§ @ Relief groove £1x0.2 as per suitable for max. cable conductor cross—section(mm?2): 25,
§ - @ Measured over bolt heads
'g @ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility F3008 lM—B5/V1
=k (5) 2 Nos. BS.Conduit Entry 31.8 (1.25") —IS:1653 Flange Designation Applicable for Construction
55| (6) 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653 T T Dimensional Diaaram Soe
2 : ‘ rawn_ 196.11,08| ROAFE A\
3 @ Eye Bolt position for V1 construction. tdeé;;t&;.ﬁ 4"@]3‘..‘. » e\ Type']P(’JO 163/1647 165 - g..g NTS
ala Eye Bolt position for B5 construction. P SIE \ S [T - abl
8 raics 05 o 4D-2716-69-0247173-001 |95
TooEpRLY (©) Blower Motor Medium 15:2102 WMOT [REF DRG NG, (4D—2716-64-0240450-001)




ab) DD suitoble for B5/VT construction os per ECN No. 500000005452 (RSA) DF. 07.04.08
oa} DD suitable for B5 construction as per EON No. 500000003256 (RSA) DL 18.02.00

jusLp

f oy
L.

2

690
] 4 B
110405 =55~
13 —| (—F
o oy s ®
<

- d
I - 47% )
© SO I g Y N
O &
| Q|
~ f;-(\‘
o o B S
f 2 |1
45| 9
- 2

Air Qutlet /

@ Shaft extension 8425 x 110 with protected centre hole M16x36

(2) Relief groove E1x0.2 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility
@ 2 Nos. B.S.Conduit Entry 31.8 (1.25") —IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Eye Bolt position for V1 construction.

Eye Bolt position for B5 construction.

@ Blower Motor

ad

@Terminol Box Type :

1XB1 223
suitable for max. cable conductor cross—section(mm2): 25,

U89 Y11 PAO_166—

F3008B IM-B5/V1
Flange Designation Applicable for Construction
Date . . . Scale

Dimensional Diagram |

Dim, without
tolerance as per
Medium 1S:2102

DRG No. Ob
4D-2716-79-0247174-001

A=

REF_DRG NO.

(4D-2716-74-0240451-001)




Fb) DD suitable for B5/V1 construction as per ECN No. 500000003452 (RSA) Dt. C7.04.0%

=
@

5 Joc) DD suitoble for BS construction os per ECN No. 500000003256 (RSA) Dt. 18.02.08

820

735

110 +0.5

13| —F=
vl s @
<

w
1 5 s
© ] 1 Qi
O‘: ESY
z
Yo
* 2 =t ——

&
8350
)

Air_Outlet /

@ Shaft extension 848 s x 110 with protected centre hole M16x36

@ Relief groove E1x0.2 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per IS:4009 only for motors with regreasing facility
@ 2 Nos. B.S.Conduit Entry 31.8 (1.25") —IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4”) —IS:1653

@ Eye Bolt position for V1 construction,

Eye Bolt position for BS construction.

@ Blower Motor

@Terminol Box Type :

1XB1 223
suitable for max. cable conductor cross—section(mm2): 25,

F300B
Flange Designation Applicable for Construction
. . " Seale
Dimensional Diagram |t

wtoree oo por | SIEMENS

Medium iS:2102 WMOT:

Type: 1PQO 18~

HD-2718-69-0247175-001 D@

(4D-2718-64-0240452-001)




ob) DD suitoble for BS/V construction as per ECN No. 500000003452 (RSA) Dt 07.04.09
o) DD suitobie for BS construction os per ECN No. SO0DOOODSZ56 (RSA) Dt 1B.02.08

=
B
5
£

790

{
<53 E; ‘E> (:J Air_Inlet

75— %
égi =110 5 =
8 e — — e ——-—-
=
3

2 |
®

_Air_Qutlet /

@ Shaft extension 855 6 x 110 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

@Terminal Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35,

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility F350B
() 2 Nos. B.S.Conduit Entry 51 (2") —IS:1653 Flange Designation Applicable for Construction
(6) 1 No. B.S.Conduit Entry 19 (3/4") —-IS:1653 T Nome ) ) . Scde
. . {orewn—[26.11.08 R Dimensional Diagram |
@ Eye Bolt position for V1 construction. hecked 02041 e3P e 1PQ0 20
£d.CHD: : ype: -
Eye Bolt position for BS construction. Dim. without C JORC No. ab
@ Blower Hotor it | SIEMENS 140 5790-69-0247176-001 ®|=
Medium 15:2102 wMoT (4D-7730-64-0240453-001)




ob) DD suitable for BS/Vi construction as per ECN No. 500000003452 (RSA) Dt 07.04.09
oa) DD sutabie for BS construction os per ECN No. 500000003256 (RSA) Dt 18.02.08

<

1000

815

110405

ol
OO |8 ® |5
B ot R R 2
@
| 2
W
© ettt

16

59

1
2450
®

Air_Qutlet /

@ Shaft extension 835 6 x 110 with protected centre hole M20x42

@ Relief groove £1.6x0.3 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S5:4009 only for motors with regreasing facility
(5) 2 Nos. B.S.Conduit Entry 51 (2”) -IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Eye Bolt position for V1 construction.

Eye Bolt position for BS construction.

@ Blower Motor

u
Air_Inlet "
(D Terminal Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35,
F400B IM—B5/V1
Flange Designation Applicable for Construction
Name . " . N Scale
LYY N Dimensional Diagram |\
3 [y 1po0 22-2
. . . ~ IDRG No.
e, | SEEMENS [4n” 9709_g9-0247177-001 [
Medium 15:210 WMOT REF DRG N0, (4D-2722-84-0240454-001)




ab) DD suitable for BS/V1 construction os per ECN No. 500000003452 (RS} DL 07.04.08
aa) DD suitable for BS comstruction as per ECN No. 500000003256 (RSA) Dt. 18.02.09

e

Justipuaus

1030

845
~—197—
140 £1 =85~
16 —| |—fF=t
S ®
[ —
ONIINIG K a
I 74_““ <
| 2
(o]
£ g J=jr——————1——-
[Te)
64| S !
64 ol

Air _Inlet

__Air_Qutiet /

@ Shaft extension 860 ng x 140 with protected centre hole M20x42

(2) Relief groove E1.6x0.3 as per 1S:3428
@ Measured over bolt heads

@ Grease Nipple M10x1 as per 15:4009 only for motors with regreasing facility

(5) 2 Nos. B.S.Conduit Entry 51 (27) ~I5:1653
@1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Eye Bolt position for V1 construction.

Eye Bolt position for B5 construction.

@ Blower Motor

@Termincl Box Type :
suitable for max. cable conductor cross—section(mm?2): 35,

1XB7 322

~—155—

335

F400B

IM—B5,/V1

Flange Designation

Applicable for Construction

yo'2-09 -s.plc |

Name
R »

<

. ' . N Scale
Dimensional Diagram

o NTS
Type: 1PQ0 22-4..8

Dim. without
tolerance as per
Medium 1S:2102

WMOT

SIEMENS

4D-2722-99-0247178-001 |92

IREF DRG NO.  (4D-2722-94~-0240458-001)




Slab) DD suitable for BS/V1 construction as per ECR No. 500000003452 (RSA) DL 07.04.08
3 oa) DD suitoble for BS construction as per ECK No. S00000003256 (RSA) Dt 1B.02.08

1195

140 !

18— —FF=t

5~ [t @\
| e

oRilfc]

[es)
140~ &

$450
i
i
o
[en]
I

$60{=— hb

18

t=ht+—————- e — -

64

3
$550

2[__

Air Inlet

_Air_Qutlet /

@ Shaft extension #60ms x 140 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per [5:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 15:4009

@ 2 Nos. B.S.Conduit Entry 51 (27) ~IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4”) —IS:1653

@ Eye Bolt position for V1 construction.

Eye Bolt position for B5 construction.

@ Blower Motor

@Terminol Box Type :

1XB7 422
suitable for max. cable conductor cross—section(mm2): 120

F500B

IM—B5/V1

Flange Designation

Applicable for Construction

[y

_Name

Dimensional Diagram |\
Type: 1PQO 25-2

Scale

Dim. without
tolerance as per
Medium 1S:2102 WMOT

SIEMENS [}5" 9775-89-0247179-001 |5

(4D-2725-84-0240455-001)




os per ECN No. 500000003256 (RSA) Dt. 18.02.08

ble for B85

’ ab) DD suitable for B5/V1 construction as per ECN No. 500000003452 {RSA) DL 07.08.08

1195

953

140 %1

18 —| |— =
B N e oy
vz —
@\\* ‘ F Q (@’ Air Inlet
“_207“"' fon)
o
[Tg)

=140

45%6

865

te==HHt—————-——- e & S

MR |

Air_Qutlet /

$550

@ Shaft extension #65 ng x 140 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

(DTerminal Box Type : 1XB7 422
suitable for max. cable conductor cross—section(mm2): 120

—1 120 |=—200—

@ Grease Nipple M10x1 as per 15:4009 F-SOOB |M—35/V1
(5) 2 Nos. B.S.Conduit Entry 51(2") —IS:1653 - - -
- Flange Designation Applicable for Construction
(6) 1 No. B.S.Conduit Entry 19 (3/4”) —I5:1653 T - - - S
@ Eye Bolt position for V1 construction. hedle :22';.1}0; Dimensional D:agram NTS
s . Type: 1PQ0 25-4..8
Eye Bolt position for BS construction. % S Er=nie  |PRC No. N ab
im. Wing
@ Blower Motor et o e | SIEMIENS |'4p—9725-99-0247180-001 |95
; ecium B REF_DRG NO. __ (3D—2725-94-0240459-001)




ab) DD suitoble for BS/V1 construction os per ECN No. 500000003452 (RSA) Dt 07.04.00

oc) DD suitoble for B5 construction as per ECN No. 500000003256 (RSA) Dt. 18.02.08

5
E
S
5
£

1270
1028
~—266-—
100
1408 |
18 —| — =
I ®
< ke
CNIINEYES = @]
<“'220““' Te)
ud A8
| 3|
@ g =" R
31
69| ©
T 2

Air_Outlet /

@ Shaft extension 865 g x 140 with protected centre hole M20x42

(2) Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653
() 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Eye Bolt position for V1 construction.

Eye Bolt position for B5 construction.
®

Blower Motor

3D
<
JAIr_Inlet ©
(T Terminal Box Type : 1XB7 522
suitable for max. cable conductor cross—section{mm2): 240
F500B IM-B5/V1
Flange Designation Applicable for Construction
- ) . . » Scale
Fowr Dimensional Diagram | <

ot 135 =250

ecked

Std.CHD,

Type: 1PQO_28-2

Dim. without
tolerance as per
Medium 1S:2102

D=2728-8930-0247181-00T°| =]

[REF DRG NO.

(3D-2728-8430-0241597-001)




ab} DD suitable for B5/V1 construction os per ECN No. 500000003452 (RS&) Dt 07.04.08

oa) DD

truction as per ECN No. 500000003256 (RSA) Dt 18.02.08

ble for BS

Juailipy

k5

1270

1028

~—266—~
140 £1 10
18 —~| |—F—=
514 g
[ < "
CNIINGYK:
+220—
& =140\
| 3
f 2 ]
795 ¥ J
2

20

$75=— hb
|
|
|
|
|
|
|
|
|
|
|

Air_Qutlet /

@ Shaft extension 875 e x 140 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per [5:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 15:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Eye Bolt position for V1 construction.

Eye Bolt position for B5 construction.

@ Blower Motor

{135 |[=—250—

<
Air_Inlet S
(T)Terminal Box Type : 1XB7 522
suitable for max. cable conductor cross—section{mm2): 240
F500B |M-B5/V1
Flange Designation Applicable for Construction
Date Name v . N . Scale
g;;aw?( 26.11.08/RSA Dimensional Dngme NTS
e BTSN ipe 10 28-4.8 .
— 2 1 [ORC Mo,
o' | SIEMENS ['4n9798-9930-0247182-001 ¢ &
Medium 1S:2102 WMOT

REF DRG MO.  (4D-2728-9430~0241596--001)




1375

1133
—{ 165 |=—285~—

330
140 #1 155
22—~ |— =t
s Iyeap: ®
i
P i
®\‘\- l ® @ @)’ Air_Inlet S
| 248~ ol
e ~—140—~ s
S < -
‘ Yol ‘
o) 9
Cl— 8 e ———-—-—- —f - —p—-—
f 2| T
69| ¥
2 |
518 Air_Outlet /
gs‘
MF)
Pt
G Shaft extension 865 s x 140 with protected centre hole M20x42
g|s @ . o P @Terminql Box Type : 1XB7 622
gls @ Relief groove E£1.6x0.3 as per 1S:3428 ) )
slg suitable for max. cable conductor cross—section(mm2): 300
"3 % (3) Measured over bolt heads v
gg @ Grease Nipple M10x1 as per 1S:4009 F600B |M-B§/V1
£ (5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —I5:1653 Fiange Designation Aoplicable for Construction
slz| (6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 - ) Di onal Di Sode
HE @ Eye Bolt position for V1 construction. & ];ggeg?)‘/zq%iqm%rcm "
EIE CHD. Type: ‘ -
ala Eye Bolt position for BS construction. Dim. without ° e;% To. "~ q?
56 @ Blower Motor ﬁgar:e‘glsé’p&r SlE 4'D"2731 "8930"0247183"‘00 @B
Jusuipuatily o WMOT [REF ORG NO. __ (4D—2731-B430-0241599-001)




1405

1163
165 285
- ~—330~—
22— :
6—~ |4~ LT N\
[ )

645

ofllols @ | A nt

%T 170~ s m/
R
QLM § -+~~~ {i———t—t—— ~ - >

I
$660
| S—

Air_Qutlet /

@ Shaft extension 880 g x 170 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

(4) Grease Nipple M10x1 as per 1S:4009 F600B IM—B5/V1

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653 Flange Designation Applicable for Construction
@ 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653 T

@ Eye Bolt position for V1 construction. d

@Terminol Box Type : 1XB7 822
suitable for max. cable conductor cross—section(mm?2): 300

Scale

o} D'menssonoi D:agmm NTS

[hecked
(8) Eye Bolt position for B5 construction. S“"?:D'w, — ‘
5Bfwer woor | Jiz 75 [ SIEMENS [30-2731-9930-0247184-00T [#5

ou) DD suitoble for B5 construction as per ECN No. 500000003256 {RSA) DL 26.02.09

$ob) DD suitoble for BS/V1 construction as per ECN No. 500000003452 {RSA) Dt. 07.04.08

Medium 15:2102 REF ORG NO.__ (4D—7731-0430-0741600-001]

JusuIp

£




truction as per ECN No. 500000003256 (RSA) Dt. 26.02:08

bie for BS ¢

ab) DD suitable for V1 construction as per ECN No. 500000003452 (RSA) Dt 07.04.08

oa) DD

=
®

£

1515

1273
330~
140 +1 195
22—~ —F—
S iniaes @
P!

140~

8550

$65=— hé

I
$660
™o

18

69

Air Inlet

L7
Air_Qutlet /

@ Shaft extension 865 ;5 x 140 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 1S:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —I1S:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") —I5:1653

@ Eye Bolt position for V1 construction.

Blower Motor

@Terminal Box Type

~—285—

1XB7 622
suitable for max. cable conductor cross—section(mmz2): 300

645

F600B

IM-V1

Flange Designation

Applicable for Construction

Date Name

Dimensional Diagram NTS

Scale

Dim. without
tolerance as per
Medium 1S5:2102

SIEMENS [75-2731-6930-0247185-00T|#

IREF DRG NO.

(4D-2731-6410-0241601-001)




1545

1303

—330— 102 . 85—
135 225

170 1
i
22— :
6 |- | LA
1 < e
®\‘\ © @ § Air Inist
—248 fe
] T (e
1o S F1

645

i

22

_Air Outlet /

@ Shaft extension 680 g x 170 with protected centre hole M20x42 @Termincﬂ Box Type : 1XB7 622

@ Relief groove E1.6x0.3 as per 15:3428 suitable for max. cable conductor cross—section{mm2): 300
@ Measured over bolt heads :
@ Grease Nipple M10x1 as per 1S:4009 F600B IM-V1
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653 _Flange Designation Applicable for Construction

. » » SC‘
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 Dimensional Diagram NT;
@ Eye Bolt position for V1 construction.

X D)é%e:NWQO 316/7/8/3- 4--8
B NS [4p-2731 —7930-0247186—00‘-&["@%*

REF_ORG NO. (4D—2731-7430-0241602-001)

Dim. without \
tolerance as per S'E
Medium 1S:2102

ab) DD suitable for V1 construction as per ECN No. 500000003452 (RSA) Dt, 07.04.08
aa) DD suitable for BS construction os per ECN No. 500000003256 (RSA) Dt 26.02.08

usuIp

£




Annexure - VI

Dimensional Diagrams for 1PQO Motors

Frames 160M - 315L -1IMB35 -T.Boxon TOP



830

»
s
@3]

""" ~—148~—
55
11005
13|
UEHe 2
\} 1
GV @
| | ; & Air_Inlet
= =110~ l 5
< > ' ?l
W ! w
L B | 3 3
o I A — T -—- 3
| 2 | - |39 :
45 < ! g
S i
= , Y T I g
/ ~ hd i 1
Air_Outlet 2_0» L- l
~108}~ 21010'7&——1
~—70— ~—70—
250 314
@ Shaft extension 84246 x 110 with protected centre hole M16x36 @Terminal Box Type : 1XB1 223
@ Relief groove E1x0.2 as per 1S5:3428 suitable for max. cable conductor cross—section(mm?2): 25,
@ Measured over bolt heads :
@ Grease Nipple M10x1 as per 15:4009 only for motors with regreasing facility 160M-F300B IM-B35
() 2 Nos. B.S.Conduit Entry 31.8 (1.25") —IS:1653 Frame Designation Applicable for Construction
) Bﬂt . . . S '
(6 1 No. B.S.Conduit Entry 19 (3/47) —IS:1653 7 24,1;:.’08 Dimensional Diagram |\
Lheckedr 2.
() Blower Motor SO e PQD 163/164/165~2..8
Dim. withowt DRG No.
SR 4D-2716-67-0247251-001 |5
JGstpiay " REF ORG N0 (4D-2716-62-0240422-001) |




875

690
a1 48—
55
110105
13|
sl IS 1T @ O\
N
=il s .
| | h o)
e 110~ -
2 | 3
(]
N‘ By l
o 3 e - e LR —

Air_OQutlet

25411

294

@ Shaft extension 842 s x 110 with protected centre hole M16x36
(2) Relief groove E1x0.2 as per 15:3428

@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility

g
2 ™
J DUI—— - M
0
<o
o
«w
314
(T)Terminal Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm2): 25,
160L-F300B IM-B35

Erame Designation

Applicable for Construction

() 2 Nos. B.S.Conduit Entry 31.8 (1.25") ~IS:1653
n Dﬂt . . . S
@ 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653 2;;’;;03 . Dimensional Daogmm r\j;*;
(@) Blower Motor StciD] ype:1PQO _166-2...8
P— X SR o,
s o oo | SIEMENS | 4p—9716-77-0247252-001  [#5
TSR m e WMOT [REF DRG NO___ (4D-2716-72-0240423-001)




920

735
. —145— I o
. 110£0.5 Ko
13| . =
LEdle @
0N 3
L] Air_Inlet | 7
’ N 5 w
e ~—110— oy
& | 2 7
g ' 2
‘ S | 8 0
X 13 A0+ — = e 3
' 3 =] |35 ‘
515 ! 3
— 2 L M J
LI—\_-_J oy "‘( ‘ ‘
J{ {111 + i 3
__Air Outlet
R R !«-———~241:l:0.75 l I 180M bl dsrs
121~ 279 £1 | 180L 279 #1
110~ —110— € 65
332 344
@ Shaft extension 948 x 110 with protected centre hole M16x36 @Terminol Box Type : 1XB1 223
@ Relief groove E1x0.2 as per 1S:3428 suitable for max. cable conductor cross—section(mm2): 25,
@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility 180M/180‘-""::-"0()8 IM-B35
(5) 2 Nos. B.S.Conduit Entry 31.8 (1.25") —IS:1653 Frame Designation Applicable for Construction
. . . Seal
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 Dimensional Diagram |y
@ Blower Motor %%e:NWQO 18-
Dim. without o
lrorce 0 e 4D-2718-67-0247253-001 |95
FTETIETT] edum = WMOT REF DRG NO. __(4D—2718-67-0240424-001)




975
790
- 85
1100.5
15|
SrEdle @
<
T iy % G”)L‘O
e ~—110— i ‘5;
[an f
t s | 3 &
© T8 st — — <
f S ~ |42 L
59 s , S
- DL T r o
( Lr-—-\_J | { T
HIT i |
Air_Qutlet 25 l ’
133~ 305 ¢1 |
85— 85—
355 398
@ Shoft extension 855 mg x 110 with protected centre hole M20x42 @Te.rmmol Box Type : 1XB7 322 _
@ Relief groove E1.6x0.3 as per I5:3428 suitable for max. cable conductor cross—section(mm?2): 35,
@ Mecsured. over bolt heads A . N 200L—F 3508 IM—B35
@ Grease Nipple M10x1 as per [S:4009 only for motors with regreasing facility Frame Desianation Applicable for Construction
() 2 Nos. B.S.Conduit Entry 51 (2) —IS:1653 ] 5 ; ; Sedle
(6) 1 No. B.S.Conduit Entry 19 (3/4") —I5:1653 Pt 12 A iy l?;gge;suonal Diagram | s
) Type: -
@ Blower Motor _— Y BRG No.
e ov e | SIEMENS 14 9790-67-0247054-001 |5
I edium [5:210 WMOT [REF oRe WO, (4D-2720-67-0240425-001)




16

1000

815
—197—
85
11005
16| . =
SR He ®
N
o= i T —
e 110 ' S
& | 3
)
o |
= 1[5 PP E— :
[}
Y et =25
A ﬁ |
DL H‘W‘ ﬂl
;
/-' il " T
Air Outlet 50 g 086 1 ! ! 9955
149~ 311 41 ! 225M
110~ —110—
386

@ Shaft extension 855 me x 110 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428

Air inlet

100

155—

(]
w
ud
J
M
t “-1~1019
356 1
80 80
436
@Termincl Box Type : 1XB7 322
suitable for max. cable conductor cross—section{(mm2): 35’
IM—-B35

@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility

(5) 2 Nos. B.S.Conduit Entry 51 (27) ~IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Blower Motor

225S / 225M-F400B

tolerance as per
Medium 1S:2102

Frame Designation Applicable for Construction
Date | MName . ) . R R Scale
D;lir;e %"4.1;.(38 ”RSA ' «, D!menSIOan chgrcm NTS
SHd.CHD. X A Tye: 1PQ0 22-2
. withon BRG No. —
arer os 3o | SIEMENS '4p_9702-87-0247255-001  [¢©&

WMOT

JREE_ORG NO.

(4D-2722-82-0240426--001)

JUBIpLaLY




Jusuiptiatly

1030

Air Inlet

845
—197—
85
1401
16| . =
Side
N
; S el
2 |—140— 5
3 \ | %
| S l
© g Je=f{—+————- —prp
3 | |25
64| = (
2 L I [
/- 1l " Y
Air_OQutlet
0| |1 ogg erf)-] 2255
~149~] 311 41 | 225M
110~ 110~
386

@ Shaft extension 60 mg x 140 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per IS:4009 only for motors with regreasing facility
@ 2 Nos. B.S.Conduit Entry 51 (2") —IS:1653

(8) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

(7) Blower Motor

155

[an]
S &
S DTSRI S t [Tp}
3
i
te]
N
‘ o~
:; |
f ~+1| =619
356 11
80 80
436
() Terminal Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35,
225S / 225M-F400B IM—-B35

Frame Designation

Applicable for Construction

[REF DRG NO.

| Date Name ) N R R Scale
e Dimensional Diagram |\
1 8 \ Type 1PQO 22-4.8
Dim. without AL
s o por | STE 4D-2722-97-0247256-001 |
um WMOT (4D—2729-97-0240430-001)




1195
953
- ~—234— 925 42200
140 +1 T
] *bfo
181 . A
UEHe % /
\! Al
®\~\* % Gﬁ Air Inlet
{ i 74N /@
® » T o
T3 | o 3
®© o &=t — —f—t— 1 e
f 3 | |39 L
84 ; 7
— 2 I L1 I 3
/ i + o g
Air_Outlet
— 14 !«- | bz
168}~ 349 41 ] 406 1
115 115 100 100
425 506
(D Terminal Box Type : 1XB7 422
@ Shaft extension #60 mg x 140 with protected centre hole M20x42 suitable for mox. cable conductor cross—section(mma2): 120
(2) Relief groove E1.6x0.3 as per 15:3428 TEOM—F500B VB35
@ Measured over bolt heads Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per 15:4009 Date Name . . . . Scale
(5) 2 Nos. BS.Conduit Entry 51 (2") —IS:1653 Frected 6 20714 #E . I?;f(gegiac)znol Diagram —yrs
() 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 Brm— SIEM ‘ S R
@ Blower Motor ‘.;‘!;’J‘:,‘:,ie.g’z,”é; 4D-2725-87-0247257-001 @B
GspuaLy o WMOT REF DR N0, (4D-2725-80-0740427-001)




-

1195

953

~—234—

140£1

Air_Outlet

S5
1
*

1681~ 349 +1 b—]

~115— ~115—
425

@ Shaft extension 865 me x 140 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 51 (2") ~IS:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653

@ Blower Motor

Air inlet /@

120

200~

[om)
8
—~—1¢24
406 +1
100 100
506
(D) Terminal Box Type : AXB7 422
suitable for max. cable conductor cross—section(mm2): 120
250M—-F500B IM—B35
Frame Designation Applicable for Construction

Dim. without
tolerance as per
Medium 15:2102

Dimensional Diagram |
Tye: 1PQO_25-4..8

Scale

4D-2725-97-0247258-001 [&2

JREF DRG NO.

(4D-2725-92-0240431-001)




18

1270

1028

14041

} .
§ «140—»\ ] 5
6 3 |
' gl f= - B N O
MR G{ } - |—30
T @ L1 M

Air Inlet

J{ —{ 11 hd I
Air_Outlet
05 |- 3pger {—le] 2808
-190}~| 419 +1 | 280M
~100~ 155
483

@ Shaft extension @65 e x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

(4) Grease Nipple M10x1 as per 15:4009

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

135

250—

(4]
S
— ~
T
(o]
0
‘ (9]
3 |
N
' i | 1t 24
457 +1
100 100
557
(D) Terminal Box Type : 1XB7 522
suitable for max. cable conductor cross—section(mm2): 240
IM-B35

280S/280M—F5008

Frame Designation

Applicable for Construction

Drawn
Checke:
td.CHD.

Dimensional Diagram

Type: 1PQO 28-2

Scale

NTS

Dim. without

Medium 15:2102 WMOT

v, | SIEMENS ['4p-9728-8730-0247259-001

&)

JREF

DRG_NO.

(4D-2728-8230-0241569-001)

JuslWpUaLLY




g

sty

1270

1028
—266— 125 o250~
100
14041
18|
SR e @
<
@] I?l (@, Ar_Inlet
e
f" 140 l o
E | g F|
| g | s &
S g =l ———— S R . E— o=
f @ | — |30
795 € , T
s ol .
[ {1 + i
Air_Outlet
08 | Lsege1 I 2803
190 419 +1 ! 280M
100~ 155 100 100
483 557
. @Terminal Box Type : 1XB7 522
@ Shaft extension 875 mg x 140 with protected centre hole M20x42 suitable for max. cable conductor cross—section(mm2): 240
@ Relief groove £1.6x0.3 as per 15:3428 2803/280M-F5008 IM—-B35
(%) Measured over bolt heads Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per [S:4009 X . R Scale
(5) 2 Nos. B.S.Conduit Entry 635 (2.5") —I5:1653 : . ?;gge;ss?gol Diagram |y
” CHD. X ) ype: —~4.
(6) 1 No. B.S.Conduit Entry 19 (3/4”) ~IS:1653 L —
ot o e | SIEMENS'4p”9798-9730-0247260-001 [¢2

@ Blower Motor ‘

Medium {S:2102
edum WMOT REF DRG NO. _ (4D—2728-0230-0241570-001)

JusLIpUBWY




JuspUBUlY

1375

1133
330
135
140 +1
2. | =
inESEE NS
N
4 O % @1
i [Te]
© 140 | 3
% . @
| LS |
S g = ft+—+———— ——f—-—-
% —-—I l-——32
69| € |
2L L [
|1§| L’T—J |{x|=v[
Air_Outlet / - T
| %) | Lyoper o) 3158
216}~ 457 1 | 315M
120~ 171
597

@ Shaft extension 865 g x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 1S:3428
@ Measured over bolt heads
@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

Air Inlet

| 165

285~

Q
R &
s s o [s o]

T

fe}

T

! —+1| 1928
508 1.5
120 120
628
@Terminol Box Type : 1XB7 622

suitable for max. cable conductor cross—section(mm2): 300

315S/315M—F600B IM-B35

Applicable for Construction

Date
rawn  124.11.08

Checked 10Z-07]
Std.CHD.

Dimensional Diagram

Tye: 1PQ0 310/1/3/4=2

Scale

NTS

Dim. without
tolerance as per
Medium 15:2102

WMOT

4D-2731-8730-0247263-001

&5

IREF DRG NO. _ (4D-2731-8230-0241571-001)




e

22

JUSLIPUBLLY

1405
1163 .
~—330— 00 5285
135 |
17041 o
| \)Pb(
22 | . = A
wEHd e ® /
AN
ONITN l\a@ @I _Air_inlet
; | ) _®
% ! L3 )
o | g
gl f=H++———— - —H—-—1
‘ % --»I |--—32
8| = '
2D T
HID] WD ) Vi #
/ {11 + I A
Air_Qutlet
2 !-———-——406 £1 | l 315S by {628
~216/ 457 +1 ! 315M 508 +1.5
00— 7 120 120
527 628
(D Terminal Box Type : 1XB7 622
(1) Shaft extension 880 mg x 170 with protected centre hole M20x42 suitable for mox. cable conductor cross-section(mm2): 300
@ Relief groove E1.6x0.3 as per 15:3428 3155/315M—F6008 IM—B35
M d bolt head
@ eosure _Over olt heads Frame Designation Applicable for Construction
(4) Grease Nipple M10x1 as per 15:4009 I T N o - . —
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653 Drown_124.11.081 RARZAS - W, ‘l?}ig(\)e?%ﬁn;}l Diagram NTS
(6) 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 R STEMENS e 1PQO 310/1/3/4 4.8
(7) Blower Motor tlerance s per >| 4D-2731-9730-0247264-001 [©3
; ' WMOT REF_ORG N0, (4D-2731-9230-0241572-001)




1515

1273

140 +1

T ®\\* % d
3 W)
g 140~ ! ! §(§
ool By B nl | _________ I R
‘_’ ! o = T
M ) b
; o 1 |

Air_Qutlet

! 50815

578

@ Shaft extension #65 g x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

(%) Grease Nipple M10x1 as per 1S:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Biower Motor

| 165

285—

Q
2 &
Pt O - 00

T

u

=

* -] 1=t 328
508 +1.5
120 120
628
@Terminal Box Type : 1XB7 622

suitable for max. cable conductor cross—section(mm2): 300

315L—F600B IM-B35

Frame Designation

Applicable for Construction

Medium 15:2102

Date Name Scale
mlmz' Dimensional Diagram
e e | L 1PQO 316/7/8/9—2 9 NTS
o SIEMENS 4D-2731-6730-0247261-001 [¢ &

JswipLiatly

IREF DRG NO.

(4D—2731-6230-0241573-001)




22

1545
1303
~—330— 125 Pk ~—285—
135 |
170 £1 .
S
2| = A
TR e ® /
N
®\~ % d Air_Inlet
N _Ar_Inlet
+ ] Et-)
w o S
2 170 | 3 e |
| S [ 2 &
gl f=——+———— R - - 3
f % —»‘ 1«32 '
8 = » I
2 L_T1 [ 0
L__F-\_J J [ & s
/ i + i o
Air _Qutlet 35 [*— ! } L 598
216/ 508 £1.5|——| 508 £1.5
120 90 120 120
578 628
@Terminol Box Type : 1XB7 622
i . —secti :
(1) Shaft extension 980 ms x 170 with protected centre hole M20x42 suitable for max. cable conductor cross—section(mm2): 300
@ Relief groove E£1.6x0.3 as per 1S:3428 31§L—F6008 'M_Bss
(2) Meosured over bolt heads Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per 15:4009 X X R Scale
(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653 ol ?F'Jg(‘)egz‘/o?;‘;g ?lggrom NTS
(&) 1 No. B.S.Conduit Entry 19 (3/4") -IS:1653 r—— SlEMENS T P
(@) Blower Motor lerance 15 per 4D-2731-7730-0247262-001 |95

WMOT

REF_DRG NO.

(4D-2731-7230-0241574-001)

JuslipuaUly




Annexure - Vi

Dimensional Diagrams for 1PQO Motors

Frames 160M - 315L - IMB35 - T.Box on SIDE



830
645
~—] 48—
s
110405 /‘* 260
3., | ,
i e & SN <
Ol - @
} ~55= o) Air_Inlet
e 110~ =
2 8 ? I
(g K N- a %
2 3} =i —{— -] 3
3 - |39
4] . o5 B
— 28 | M gr 2
/ x il d W
Air_Outlet 20 I |
( ]
10812104075 ]
~—70— ~—70—
250
! 215
@ Shaft extension $42 s x 110 with protected centre hole M16x36 @Terminol Box Type : 1XB1 223
@ Relief groove E1x0.2 as per 15:3428 suitable for max. cable conductor cross—section(mm2): 25,
@ Measured over bolt heads For Terminal Box on left, view is "mirror_image”
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility 160M—F300B IM-B35
(5) 2 Nos. B.S.Conduit Entry 31.8 (1.25") -IS:1653 Frame Designation Applicable for Construction
» Dat . . . Scal
(6) 1 No. B.S.Conduit Entry 19 (3/4”) -IS:1653 T eg.ge Dimensional Diagram g“T;
@ Blower Motor S - Type: ] PQO_163/164/1€S —2..8
Dim. without DRC No. )
s 0 o 4D-2716-68-0247451-001 |95
JisupiaUy e REF DRG NO.  (4D-2716-67; 4D-2716-63)




875

690
1 48—
e 110405 / g 260
3]
e o
B |
& g ¥N 55
] A Air_Inlet
@0 ik ] B
N O} 3 ]
t < - : 3
o - e e et —f{—-—-1 i
? 3 | |39
w3
ST 2 | 27 ©
— 0L L] I 2
/ ~{T1] * o
Air_Outlet 20 I }
~108} 25411 | 254 +1
~70— 70— 60 60
294 314
215
@ Shaft extension 842 e x 110 with protected centre hole M16x36 @Terminol Box Type : 1XB1 223
@ Relief groove E1x0.2 as per 15:3428 suitable for max. cable conductor cross—section{(mm2): 25,
@ Measured over bolt heads For Terminal Box on left, view is "mirror_image”
@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility 160L-F300B IM-B35
(5) 2 Nos. B.S.Conduit Entry 31.8 (1.257) ~IS:1653 Applicable for Construction
” Ld . ® S
@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 ) Dimensional Diagram P:?;
@ Blower Motor Type:1 PQO 166-2...8
Dim. without ORS To. &
tolerance gs per 4D-2716-78-0247452-001
o WMot [Rer oRe No- (40771677, 4D-2716-73))

JHaIpUBLEY




110+0.5

5

13,

]

o=

hé ™

$250

~—110—

848
|

Q

2

515 =
2

Air Inlet

Air_Qutlet

@ Shaft extension 848 s x 110 with protected centre hole M16x36
@ Relief groove E1x0.2 as per 15:3428

@ Measured over bolt heads

180M

180L

fg
~~~~~ p
<
[
N
215
@Terminal Box Type : 1XB1 223
suitable for max. cable conductor cross—section(mm2): 25,
For Terminal Box on left, view is "mirror image”
180M/180L—F300B IM-B35

@ Grease Nipple M10x1 as per 1S:40038 only for motors with regreasing facility

@ 2 Nos. B.S.Conduit Entry 31.8 (1.25") -IS:1653
(8) 1 No. B.S.Conduit Entry 19 (3/4") ~I5:1653

@ Blower Motor

260

Frame Designation

Applicable for Construction

tolerance as per

Medium 18:2102 WMOT
] EF DRG_NO.

Scale

T Dimensional Diagram NTS
Sh:éﬁ?). -3 Type 1PQO 18—
on, iz ISTEMENS [’ 4D-2718-68-0247453-001 &

(4D~2718--67; 4D~2718~63)




975

790

_Air Qutlet

133

110405 Q7
150 | |
s @)
I
; ®\“\~'- 85
@ ] 1 Qe
S O
‘ SP,LO .
= 1
L ! 0 7{2—3 — - — - — - — —
= —*‘ l*—42
SR |
2 | L1 I

305 %1

@ Shaft extension 855 5 x 110 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility
(5) 2 Nos. B.S.Conduit Entry 51 (2") ~IS:1653

(6) 1 No. BS.Conduit Entry 19 (3/4") ~IS:1653

@ Blower Motor

@Termincl Box Type :

Air_Inleg

335

318" 1

80

450

80

1X87 322

suitable for max. cable conductor cross—section(mm2): 35,

For Terminal Box on left, view is “mirror image

”»

200L—F3508 IM—B35
_Frame Designatio! Applicable for Construction
505 Dimensional Diagram |
0 PR e 1PQO 20—
im. withoul o DRG No.
s o pr [ STEMENS 1'4p9720-68-0247454-001 45|
Medum 5: WMot [REF ORG No. _ (4D-2720-67; 40-2720-63)

JUBLLpURY,




juslpUaly

1000

815

110405 e RV A

i - 85
© N ——
I 3
; 0 T
© e 11 —

$450

59

s
52[ | il

/ x il + Tt
_AIr_Outlet
20 ] 286 £1-—] 1 9958
<1491~ 311 1 i 225M
110~ 10—
386

@ Shaft extension $55 ng x 110 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

L)
F—— — e ] (o]
<
<t
o
356 1
80 80
436
275
@Termincﬂ Box Type : 1XB7 322
suitable for max. cable conductor cross—section(mm2): 35’
For Terminal Box on left, view is "mirror image”
2255 / 225M-F400B IM—-B35

@ Grease Nipple M10x1 as per iS:4009 only for motors with regreasing facility

(5) 2 Nos. B.S.Conduit Entry 51 (2") -IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653
@ Blower Motor

Air Inlet

Medium 15:2102

Frame Designation Applicable for Construction
Date ; ) . . . Scale
o {03  Dimensional Diagram |
FIok) e 1PQ0_22-2
f3im. withou DRG No.
tkrance 3 per 4D-2722-88-0247455-001 [@E

{REF DRG NO.  (4D-2722-87. 4D-2722-83)




18

JueupliaLly

1030

84

14041 ] Q7
6. | |
Sl
- t
(D] |
4 i~ 85
s -] 40>
o 2
e TN
S 1

$450

G{ — ’»~—25
54 .
0 |

960
m
|
T
|
|
|
|
I
|

@ Shaft extension 660 6 x 140 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads

/ il * 1l
_Air Outlet
50| ‘ 286 £14—] I 9955
149}~ 311 41 | 225M
110~ —110—
386

@ Grease Nipple M10x1 as per 1S:4009 only for motors with regreasing facility

@ 2 Nos. B.S.Conduit Entry 51 (2") —IS:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653
@ Blower Motor

Air Inlet

@Terminal Box Type :
suitable for max. cable conductor cross—section(mm2): 35,
For Terminal Box on left, view is "mirror image”

500

1XB7 322

2255 / 225M—F400B IM—-B35

Applicable for Construction

Frame Designation
N , R Seal
W) Dimensional Diagram | s
Type 1PQO 22—4.8
Dim. without
weg‘.?m:;gg;ag; SIEMENS "4 9720-98-0247456-001 |
eduum 15 WMOT REF_DRG N0, __(4D~2722-07. 4D-2722-93)




18

JUsliptly

64

119

=
4

LAir Qutlet

953
140 +1 D 34
18] | |
Ve
@[] |
T B 85
© 1 40~
<
& -
T | b
o ACOH T+ — .
3 —»‘ ‘«-—39
V]
e i
d 2 Y ﬂ' ﬂl
il hd T

349 +1

425

@ Shaft extension 860 ne x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428
@' Measured over bolt heads
@ Grease Nipple M10xt as per 15:4009
(5) 2 Nos. B.S.Conduit Entry 51 (27) —IS:1653

(8) 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653
@ Blower Motor

<
(o))
wwwww O
s 2
o
100 100
506
! 365
®Terminal Box Type : 1XB7 422
suitable for max. cable conductor cross—section(mm2): 120
For Terminal Box on left, view is "mirror image”
250M~F500B ‘ IM-B35
Frame Designation Applicable for Construction
. . . Scale
g Dimensional Diagram s
g Tyee: 1PQ0_25-2
Dim. without - DRG No.
s o pr | SIEMENS | '4D_2795-88-0247457-001 |5
ecum = WMOT [ReF DRo 0. (4D-2725-87; 4D-2725-83)




1195

140 1 ~—234—

953

#4504
4
s
o
{

18

|

$65
|
y
|
|
|
|
|
|

69

|
$550
®\
.l
&

Air inlet

|

/ i i &
Air OQutlet 4—6’- l..._,. l
168~ 349 £1 —ol
115 115
42

580

100

406 +1

160

@Terminol Box Type : 1XB7 422

@ Shaft extension @65 ne x 140 with protected centre hole M20x42

@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 51 (27) —IS:1653
(6) 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653

JusLIpuawy

@ Blower Motor

506

365

suitable for max. cable conductor cross—section(mm2): 120
For Terminal Box on left, view is "mirror image

”

250M-F500B

IM—B35

\

Applicable for Construction

Dim. without

tolerance s per
Medium 1S:2102 WMOT

Frame Designation

Dimensional Diagram

Scale

NTS

@B

IREF DRG NO.  (4D—2725-97; 4D—2725-93)




1270

1028
140+t ~—266—-
18| | |
e @
O | @[ _Air_Inlet
\* :
e |tam | i
S 100 S =
l 3o 2
o0 8 de—> UL H e e ] SN S e e < ©
‘”"1 S Z 1
% H
69| € § —1 =30 L
— D ] I &
J{ i “' T
Air_Outlet
02 l 36641 {— ! 2805
~190}~] 419 +1 | 280M 457 t1
100~ 155 100 100
483 557
430
@Termine! Box Type : 1XB7 522
. ) suitable for max. cable conductor cross—section(mm?2): 240
@ Shaft extension #65 g x 140 with protected centre hole M20x42 For Terminal Box on left, view is “mirror image” )
@ Relief groove E1.6x0.3 as per 15:3428 zgos/zegm-fsoos IM—B35
@ Measured over bolt heads Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per 1S:4009 Na Dimensional Diogrom Scale
; "o g. : s o NTS
% 2 Nos. B.S.Conduit Entry 63.(5 /(2.;%) 15:1653 Frecke X vos: 1PQD 282
1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 o , T |ORC No. ~
() Blower Notor it o por | STIEMENS ['4D_9798-8830-0247459-001 |5
Medium 1S:2102 J
JusLIpUBWY IREF DRG NO.  (4D-2728-8730; 4D-2728-8330




justipuaLy

1270

1028

140 +1 D B 6o

he ™

1

S

(@]

f

S o e o
<O

575

$450

ain
875
S
|
+
|
I
|
|
|
|
|
|

$550

|
|
79.5 ﬁ —4 =30
2 ] LT I

J}/ =i +
Air Qutlet
0.5 !«--~——368 a1 ] l 9805
190k~ 419 1 | 280M
100~ 155
483

260

645

457 +1

100

100

@Terminal Box Type : 1XB7 522
suitable for max. cable conductor cross—section{mm2): 240

@ Shaft extension 875 g x 140 with protected centre hole M20x42
@ Relief groove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

@ Grease Nipple M10x1 as per 1S:4009

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

For Terminal Box on left, view is "mirror image

! 430

"

280S/280M—F500B IM-B35

Frame Designation Applicable for Construction
) . . Scale
Dimensional Diagram |
Type: 1PQO 28-4.8
im. withou RG No. .
i | STE S| '4D-2728-9830-0247460-001 [¢E
Medium 15:21 |Fer DRc to__(4D—2728-9730, 4D-2726-0330)




1375

1133

1401

Air Inlet

] ol d
l g —140— g 3
B
°3T—- I < ”@4‘: = - =n A —1 "
6| & ({ —| 32
21 L i [ I
/ il HT‘_JW
E— R ‘ 40641 {—| ‘ 3155
~216p 457 +1 ! 315M
—120— 171~
527

@ Shaft extension 865 g x 140 with protected centre hole M20x42
@ Relief graove E1.6x0.3 as per 15:3428

@ Measured over bolt heads

Grease Nipple M10x1 as per 1S:4009

@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") —IS:1653

(6) 1 No. B.S.Conduit Entry 19 (3/4") —I5:1653

@ Blower Motor

JusipLBiLY

<
<
s 2 i e B ~
<o
&
508 +1.5
120 120
628
530
(T)Terminal Box Type : 1XB7 622
suitable for max. cable conductor cross—section(mm?2): 300
For Terminal Box on left, view is "mirror image”
3155/315M-F600B IM-B35

Frame Designation Applicable for Construction
Date o . . . Scale
LTI L Y < Y Dimensional Diagram |,
5td.CHD ] X Type:NlPQO 310/113/4 —2
. . RG No.
et o | SIEMENS | 49731 -8830-0247463-001 ¢
edum = WMOT [REF_DRG NO. (4D—2731-8730; 4D-2731-8330)




1405
1163
Y3 R
et 660
170 %1 ~—330—
2| |
e @
®\~ l Air iniet i @
! | @i ©®!! q
2 ~—170—~ > e :
S 135 & }

L 8 @ 2
N % I W gngngn ¥ & y [ (L JUSU PRI DU — —_— - P~
&N =Y 74 s

? 2 -,

85| % ®/ | J |
— 2 I NS &
L_r—-\__J (- {
/ w ht i
Air_Qutlet |
. ! 406 1 ! I 31565
216 457 +1 | 315M 508 1
10— 17 e 120 120
527 628
530
(T)Terminal Box Type : 1XB7 622

@ Shaft extension #80 mg x 170 with protected centre hole M20x42 suitable f.or max.  cable confiuct?r 'f:r?ss—s?ct:onfme): 300

@ Relief groove E1.6x0.3 as per IS:3428 For Terminal Box on left, view is mirror image ,

o - 3155/315M-F600B IM—-B35
M d bolt h

@ easured over bolt heads Frame Designation Applicable for Construction

@ Grease Nipple M10x1 as per 1S:4009 = - - - T

(5) 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~IS:1653 %'ﬂ’ 2 | D'mens"?”l“;fg‘c‘g"cgm NTS

(6) 1 No. B.S.Conduit Entry 19 (3/4") ~IS:1653 Stdggina —— <P pe woo 310/1 - k-

(@ Blower Notor s 5 o 4D-2731-9830-0247464-001 [#©

edum WMOT [REF DRG NO. (4D-2731-9730; 4D~2731-9330)

JusUipuatisy




18

69

1515

1273

Air_Outlet

1401 =330~
2.0 | |
O
4 T
[to] S— i
§ 140 135
[Tg]
7o)
[ IV
pres !
€ —-—1' =32
2 L LT I
 —T— L"*"{

508+1.5

=120

578

@ Shaft extension 865 me x 140 with protected centre hole M20x42
(2) Relief groove E1.6x0.3 as per 15:3428
@ Measured over bolt heads
@ Grease Nipple M10x1 as per 15:4009
@ 2 Nos. B.S.Conduit Entry 63.5 (2.5") ~15:1653

@ 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653

@ Blower Motor

O
<
- r~
<O
&
508 £1.5
120 120
628
530
@Terminal Box Type : 1XB7 622
suitable for max. cable conductor cross—section{mm2): 300
For Terminal Box on left, view is "mirror image”
315L-F600B IM-B35
Frame Designation Applicable for Construction
. . . Toal
i) Dimensional Diagram |y
:,,,e 1PQO 316/7/878 -2
Dim. without OR
O 4D-2731-6830-0247461-001 | €5

Air inlet

tolerance as per
Medium 15:2102

JuslpUBLLY

[REF_DRG NO. (4D~2731-8730: 4D-2731--8330)




1545

1303

1701 ~—330—

Air Inlet

}
w SO e
& 170 135 3 7|
(\I‘ LQO i g
o~ Cg N T AN B B T
f ® l
8| ¥ T I
- DY T |- 2
/ {111 + i
Air_Qutlet 35 l l
~2161~ 508 £1.5|——| 508 £15
{90 100 120 120
578 628
530
@Terminol Box Type : 1XB7 622
i f ) ! duct —secti 2): 300
@ Shaft extension ¢80 mg x 170 with protected centre hole M20x42 suitable f)r max. cable con' ue .or .f:r?ss S,SC ionfmm )
. For Terminal Box on left, view is ‘mirror image
(2) Relief groove E1.6x0.3 as per 1S:3428 3T5L-F600B M—B35
@ Measured over bolt heads Frame Designation Applicable for Construction
@ Grease Nipple M10x1 as per 15:4009 [ Bate ) Di ) | Di Scale
(5) 2 Nos. BS.Conduit Entry 63.5 (2.5") —IS:1653 Tecked 4oag imensional biagram | yrs
. » 1d.CHD. Type: 1PQO 316/7 /8718 - 4--8
() 1 No. B.S.Conduit Entry 19 (3/4") —IS:1653 pe—— BRG T -
(7) Blower Motor "g‘e‘;ﬂf"ceg.sﬂpgé 4D-2731-7830-0247462-001 |9
TostipiaLy edum B WMOT [REF DRG NO__(4D—2731-7730; 4D-2731-7330)






